havean

OFFICE OF THE EXECUTIVE ENGINEER,

HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT KARSOG PH: 01907-222229 Fax: 222229, e-mail: ee-kar-hp@nic.in

12

No.PW-KSG-E-Tenders/2023-

9874

Dated:- 01 23

To

The Executive Engineer (IT) Cell, HPPWD, Nirman Bhawan, Nigam Vihar, Shimla-2

Subject:-

Regarding publication of Tender on departmental site.

Enclosed please find herewith the copies of Notice Inviting Tender for the loading on departmental web-site before 02.12.2023 as per notification issued by the Pr. Secy.(PW) to the Govt. of HP vide letter No. PBW(B)A(3)1/2020 dated 16th July, 2021. It is further intimated that all the works mentioned are of urgent nature.

Encl:- As above.

Executive Engineer, B&R Division, HP PWD Karsog



OFFICE OF THE EXECUTIVE ENGINEER, HIMACHAL PRADESH PUBLIC WORKS DEPARTMENT KARSOG PH: 01907-222229 Fax: 222229, E-mail: <u>ee-kar-hp@nic.in</u>

Notice inviting tender

Sealed item rates tender on form 6 & 8 are hereby invited by the Executive Engineer, B&R Division, HPPWD Karsog on behalf of Governor of Himachal Pradesh from the approved/eligible contractors enlisted in HP,PWD for the following works so as to reach in this office on or before 13.12.2023 upto 11.00 AM and shall be opened on the same day at 12:00 AM in presence of the contractor or their authorized representatives who may like to be present. The tender form can be obtained from this office against cash payment (Non refundable) upto 4.00 PM on 12.12.2023 for which the application should reach in this office upto 1.00 PM 12.12.2023.

The earnest money in shape of National saving certificate/time deposit account/saving account in any Nationalized Bank in H.P duly pledged in favour of the Executive Engineer Karsog Division HPPWD Karsog will be received alongwith application for obtaining tenders form. The conditional tenders will summarily be rejected. The offer of the tenders shall be kept open for 51 days from the date of opening of tender. The Executive Engineer, HP PWD, Karsog reserves the right to reject any or all tenders without assigning any reason. The contractors should append their enlistment/renewed certificates/sale Tax registration Numbers with the application for issue of tender form. If any of the date mentioned above happens to be holiday the same shall be processed on next working day.

S	r. Name of work	Estimated	Earnest	Time	Cost of
N	o.	cost	money	allowed	Form
1	R/R damages on various road under Karsog Sub-Division in Kelodhar Section (SH:- Removal of slips at various RDs)	4,75,991/-	9,600/-	One month	350/-
2	Restoration of rain damages on Kotlu Katanda road Km. 0/00 to 19/00 & Shakwa Sarandi road Km. 0/00 to 6/00 (SH:- Removal of slips at various RDs)	4,40,340/-	8,900/-	One month	350/-
3	C/o Punni to Naswar road Km. 0/00 to 3/00 (SH:- C/o R/wall at RD 0/660 to 0/675) under SCDP	4,99,231/-	10,000/-	One month	350/-
4	Construction of road Punni to Naswar Km. 0/00 to 3/00 (SH:- ROFD from 0/290 to 0/330, 0/450 to 0/480 & 1/900 to 2/080)	4,59,430/-	9,200/-	One month	350/-
5	Construction of Punni to Naswar Km. 0/00 to 3/00 (SH:- P/L Kharanja stone soling in RD 0/165 to 1/030)SCDP	4,95.977/-	10,000/-	One month	350/-
6	C/o Kao to Kajaun road Km. 0/00 to 5/00 (SH:-C/o 900mm dia RCC Hume pipe culvert & wing wall at RD 0/205)	1,90,230/-	3,900/-	One month	350/-
7	C/o Kao to Kajaun road Km. 0/00 to 5/00 (SH:-C/o R/wall at RD 0/255 to 0/270) SCDP	4,73,683/-	9,500/-	One month	350/-
	R/R damages on Sanarli to Karsog road Km. 0/00 to 3/300 (SH:- Hiring of Tipper for disposal/carriage of material)	98,800/-	2,000/-	26 days	350/-

9	R/R damages on Sanarli to Karsog road Km. 0/00 to 3/300 (SH:- Removal of slips at various RDs)	2,12,112/-	4,300/-	One month	350/-
10	R/R damages on Katanda to Pokhi road Km. 0/00 to 10/00 Karsog Sub-Division in Katanda Section (SH:- Removal of slips at various RDs)	4,70,010/-	9,400/-	One month	350/-
11	C/o link road from Dateha to Harizan Basti Chova via Kehu road km. 0/00 to 3/470 (SH:- C/o 900mm dia RCC Hume Pipe Culvert & wing wall at RD 0/110) SCDP	2,43,820/-	4,900/-	One month	350/-
12	C/o link road from Dateha to Harizan Basti Chova via Kehu road Km. 0/00 to 3/470 (SH:- Widening of road in Km. 0/180 to 0/405) SCDP	3,61,999/-	7,300/-	One month	350/-
13	Construction of link road Dateha to Harizan Basti Chova via Kehu road Km. 0/00 to 3/470 (SH:- Widening of road in Km. 0/420 to 0/705)SCDP	3,62,302/-	7,300/-	One month	350/-
14	R/R damages on Kuthed Rashog Deyum road Km. 0/00 to 9/00 (SH:- C/o R/wall at RD 6/030 to 6/034)	4,99,562/-	10,000/-	One month	350/-
15	R/R damages on Kuthed Rashog Deyum road Km. 0/00 to 9/00 (SH:- C/o R/wall at RD 6/034.10 to 6/038.10)	4,98,397/-	10,000/-	One month	350/-
16	R/R damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH;- C/o R/wall at RD 6/038.20 to 6/042.20)	4,96,743/-	10,000/-	One month	350/-
17	R/R damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH;- C/o R/wall at RD 6/042.30 to 6/046.30)	4,99,046/-	10,000/-	One month	350/-
18	R/R damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH;- C/o R/wall at RD 6/046.40 to 6/050.40)	4,93,947/-	9,900/-	One month	350/-
19	R/R damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH;- C/o R/wall at RD 6/050.50 to 6/054.50)	4,96,707/-	10,000/-	One month	350/-
20	R/R damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH;- C/o R/wall at RD 6/054.60 to 6/058.60)	4,92,471/-	9,900/-	One month	350/-
.1	R/R damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH;- C/o R/wall at RD 6/058.70 to 6/062.70)	4,95,238/-	10,000/-	One month	350/-
2	R/R damages on link road Kot to Chindi via Jabban road Km. 0/00 to 3/00 (SH:- C/o B/wall at RD Km. 1/030 to 1/052)		8,300/-	One month	350/-
3	Special repair to Govt. Sr. Sec. School Shakra Tehsil Karsog Distt. Mandi H.P. (SH:- Plastering work, distempering & painting etc.)		4,000/-	One month	350/-
4	C/o link road Dawaru to Tehehan Km. 0/00 to 4/400 (SH:- C/o stone soling properly hand packed in Km. 2/00 to 2/350)	4,98,496/-	10,000/-	One month	350/-

4										
	C/o link road Dawaru to Talehan Km. 0/00 to 4/400 (SH:- P/L stone soling properly hand packed in Km. 2/350 to 2/600)	3,56,06	59/- (7,200	1	One month	1	350/-		
6	C/o Shakra Parlog road upto village Bindla Km. 0/00 to 6/250 (SH:-P/L stone soling property hand packed in Km. 5/150 to 5/400)	3,56,00	59/-	7,200		One month	1	350/-		
	C/o link road Dawaru to Talehan Km. 0/00 to 4/400 (SH:- C/o B/wall at Rd 2/450 to 2/465)	3,00,7	97/-	6,100	0/-	One	1	350/-		
8	R/R damages on Kandi Dharkandlu road Km. 0/00 to 6/150 (SH:- C/o R/wall at RD 2/180 to 2/195)	3,98,9	84/-	8,00	0/-	One mon	ih	350/-	-	,
29	C/o Alsindi to Badeyog road km. 0/00 to 6/555 (SH:- SH:- 5/7 mtr wide road in Km. 5/615 to 5/660) SCDP	4,81,9	903/-	9,70	00/-	One mon	th	350/	/-	
30	C/o Alsindi to Badeyog road Km. 0/00 to 6/555 (SH:- SH:- 5/7 mtr wide road in Km. 5/660 to 5/705) SCDP		984/-	10,0	000/-	One		350		
31	C/o Alsindi to Badeyog road Km. 0/00 to 6/555 (SH:- SH:- 5/7 mtr wide road in Km. 5/705 to 5/750) SCDP	0	873/-		000/-	One	nth	35		
32	C/o Play Ground of Govt. Sr. Sec. School a Tattapani Tehsil Karsog Distt. Mandi H.P. (SH: Removal of slips, cutting in earth work an boundary wall)	:- \	,502/-	9,0	000/-	On	e onth		50/-	
33	C/o Play Ground of Govt. Sr. Sec. School a Tattapani Tehsil Karsog Distt. Mandi H.P. (SH C/o R/wall at RD 0/00 to 0/015)Deposit Work	:-	,915/-		,000/-	- 1	ne onth		50/-	
34	R/R damages on Gas Cylinder Store to Naya Village to Imla Khad road Km. 0/00 to 1/40 (SH:- C/o embankment in Km. 0/555 to 0/780 0/890 to 0/970)	00	7,717/-	- 9,	,400/-	١.	ne ionth	3	350/-	
35	Improvement of Black spot on Shimla Mar road via Tattapani Km. 52/250 to 90/00 (SI Providing and Fixing W-metal Beam Cra Barrier railing at RD 70/645 to 70/695)	H:-	8,393/	/- 9	,768/-	- 1	one nonth		350/-	,
36	Repair and maintenance of Kahnoo Prang road Km. 0/00 to 10/00 (SH:- C/o unlined dr and maintenance of earthen shoulder a removal of slips in Km. 0/00 to 2/00) D Deposit	ain and	94,310)/-	3,900/-		One month		350/-	
37	Repair and maintenance of Balindi Ka Kahnoo road Km. 0/00 to 10/00 in. G.P. Ka Tehsil Karsog Distt. Mandi H.P. (SH:- unlined drain and maintenance of earl shoulder and filling undulations in Km. 0/0 10/00) D.C. Deposit	nda C/o then	9,954/	-	2,000	/-	One month	n	350/-	
38	R/R damages on Jachh Sarahi road km. 0/0 5/00 (SH:- C/o R/wall in PCC at RD 0/988.5 0/999)		,74,53	34/-	7,500)/-	One	th	350/	-

13	9 R/R damages on Jachh Sarhi road Km. 0/00 to				
	0/273) 0/264 to	4,83,795/-	9,700/-	One month	350/-
40	5/00 (SH:- C/o R/wall in PCC at RD 3/395 to 3/410)	2,80,947/-	5,700/-	One month	350/-
41	Km. 0/00 to 12/480 (SH:- C/o R/wall along with PCC toe wall at RD 05/375 to 05/390)	4,81,360/-	9,700/-	One month	350/-
42	to 12/480 (SH:- C/o R/wall at RD 5/605 to 5/618.50)	4,88,575/-	9,800/-	One month	350/-
43	R/R damages on Bhanthal to Punni road Km. 0/00 to 3/00 (SH:- C/o B/wall at RD 0/915 to 0/945)	3,63,628/-	7,300/-	One month	350/-
44	C/o damages on Bhanthal to Punni road Km. 0/00 to 3/00 (SH:- C/o R/wall at RD 0/123 to 0/130 & 2/332.30 to 2/335))	2,34,349/-	4,700/-	One month	350/-
45	R/R damages on Seri Shout road Km. 0/00 to 16/00 (SH:- C/o R/wall at RD 13/625 to 13/635)	2,12,923/-	4,300/-	One month	350/-
46	C/o link road from Kelodhar to Degree College Karsog Km. 0/00 to 1/570 (SH:- ROFD in Km. 0/650 to 0/780)	4,61,831/-	9,300/-	One month	350/-
47	R/R damages on Sanarli Bathar road Km. 0/00 to 2/800 (SH:- C/o R/wall at RD 1/855 to 1/865)	3,63,420/-	7,300/-	One month	350/-
48	C/o link road Dhawandi to Dhanyara Km. 0/00 to 5/00 (SH:- Widening of road in Km. 1/960 to 2/165) Dawandi side Deposit under BSP/2022/953	3,17,540/-	6,400/-	One month	350/-
49	R/R damages on Kotlu to Katanda road Km. 0/00 to 19/00 (SH:- C/o R/wall at RD 16/800 to 16/812) Kotlu Side	4,87,279/-	9,800/-	One month	350/-
50	R/R damages on Lathehri Khadkan road Km. 0/00 to 2/00 (SH:- Removal of slips at various RDs)	97,540/-	1,950/-	One month	350/-
51	R/R damages on Nehra Bhadarnu road Km. 0/00 to 2/700 (SH:- C/o R/wall at RD 0/885 to 0/915)	4,58,071/-	9,200/-	One month	350/-

TERMS & CONDITIONS:-

- 1. No tender form will be issued to those contractors who are not registered under HPGST Act.
- 2. The Contractor/firm should be registered as or dealer GST NO.
- 3. If any of the date mentioned above happened to be Gazetted holidays the same shall be processed on next working day.
- 4. The Executive Engineer reserves the right to accept/reject any tender/ application or all tenders without assigning any reason.
- 5. No tender form will be issued to those contractors who are not registered under EPF Act
- 6. The tender forms will not be issued to those contractors whose performance is not found satisfactory.
- 7. The earnest money for the above work should be attached with the application.
- 8. The intending contractors/firms shall have to produce the copy of latest enlistment and renewal enlisted in HP,PWD.

As per Govt. Notification PW/CTR/32-20Genl Inst-CPWD/2020-37996-38095 dated 13-03-2023 the tenders above 5% will be summarily rejected and tenders amounts below 30% of amount put to tender will also be accepted.

Executive Engineer B&R Division HPPWD Karsog, Distt. Mandi(HP)

No. PW-E-Tender-NIT/23- 9868-72

Dated: 0 (12.23

- 1. Copy to the Director, Information & Publications Department, HP Shimla for favour of publication in one Regional Newspaper and one National Newspaper.
- 2. Copy to the Superintending Engineer, 1st Circle, HP,PWD, Mandi for information please.
- 3. The Sub-Divisional Officer (Civil) Karsog, Tehsil Karsog Distt. Mandi HP.
- 4. The Block Development Officer Karsog, Tehsil Karsog Distt. Mandi HP.
- 5. All the Assistant Engineers, working under this Division.
- 6. Copy to Drawing & Account Branch.
- 7. Notice board of this office.

Executive Engineer, B&R Division, HP PWD Karsog

Estimated Cost Earnest Money Time

475991 9600 One Month

Name of Work:- R/R Damages on Various road under Karsog Sub-Division in Kelodhar Section (SH:- Removal of slips at various RD's)

OF THE						
		No. Or	Unit	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	Qty.		Rs.)	with all taxes including GST In Rs. P	taxes including GST In Words
	Removal of land slide slip clearance:-Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slops and disposal of cut material with in all leads and lifts stacking the serviceable material and disposal of unserviceable material as per technical specification clause 302.3.5 and 1611 as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.	3765.75	Per Cubic Meter	126.40	475991.00	A75991.00 Rupees Four Lakh Seventy Five Thousand Nine Hundered Ninty One and Paise Zero Only
Total in Figures	Figures				475991.00	
Quoted	Quoted Rate in Figures		Select		0.00	
Quoted I	Quoted Rate in Words		7.6	Zero and Paise Zero Only		

Name of Work:- Restoration of rain damages on Kotlu Katanda road km 00/00 to km 19/00 & Shakwa Sarandi road km 0/00 to 6/00 (SH:- Removal of slips Estimated Cost Earnest Money 440340 8900 One Month

STNO	COO CO THE 19/00 O CHANNE CHANNEL CONTROL OF	0 10 6/00 (SH:- Kemoval	J/00 to 5/00 (SH:- Removal of slips at various RDs)	_	
		No. Or	Unit	Estimated Rate (In Toatal Amount	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	Qty.		Rs.)	with all taxes	taxes including GST In
					Including GST In Rs. P	Words
	Removal of land slide slip clearance:-Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slops and disposal of cut material with in all leads and lifts stacking the serviceable material and disposal of unserviceable materials.	3483.70	Per Cubic Meter	126.40	440340.00	440340.00 Rupees Four Lakhs Forty Thousand Three Hundred Forty and Paise Zero Only
	specification clause 302.3.5 and 1611 as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.					
Total in Figures	Figures				440340.00	
Quoted	Quoted Rate in Figures		Select		0.00	
Quoted I	Quoted Rate in Words		Zer	Zero and Paise Zero Only		

Name Sr.Nc	Name of Work:- C/O Punni to Naswar road km 0/00 to 3/00 (SH:- C/O R/Wall at RD 0/660 to 0/675)Under SCDP	٠.		Estimated Cost Earnest Money Time		499231 10000 One Month
	Sub-Head and items of works.	ဂ္ဂ ဂ္ဂ	Unit	Estimated Rate (In	_	Toatal Amount with all
_	Earth work in excavation by mechanical means(hydraulic excavator)/manual means in foundation in the control of			xs.)	with all taxes including GST In	Words
	1.5 m, including gatting out the exacavated soil and disposal of surplus exacavated soil as directed, within a lead of incidentals.	23.10	Per Cubic Meter	379.90	8776	8776 Rupees Eight Thousand Seven Hundred Seventy Five and Paise Sixty Nice
2	Providing and laying concrete for plain /reinforced concrete in open foundation complete on the state of the					Only
	aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all leads and lifts and other incidentals as per direction of Engineer in charge including carriage of materials within all leads and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	90,45	Per Cubic Meter	5140.40	464949	464949 Rupees Four Lakhs Sixty Four Thousand Nine Hundred Forty Nine and
ω	Granular filling abutment wing wall and return wall complete as per drawing and technical specification clause 1204.3.8 granular material as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	15.60	Per Cubic Meter	1277.55	19930	19930 Rupees Nineteen Thousand Nine Hundred Thirty and Paise Zero Only Paise 7 Pro Only
4	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carnage of materials within all leads and lifts and other incidentals.	15.00	Each	371.75	5576	5576 Rupees Five Thousand Five Hundred Seventy Six and Paise Zero Only
Total in Figures	igures				499231	
Quoted F	Quoted Rate in Figures		Select	10000000000000000000000000000000000000	0.00	
Quoted R	Quoted Rate in Words					

			Zero and Paise Zero Only	Zer		Quoted Rate in Words	uoted Ra
		0.00		Select		Quoted Rate in Figures	uoted R
		459430.00				gures	Total in Figures
ise	A59430.00 Rupees Four Lakhs Fifty Nine Thousand Four Hundred Thirty and Paise Zero Only	459430.00	269.56	Per Cubic Meter	1704.34	saturated soil comprising of mixed soil, ordinary mock and hard rock. All work of rock cutting by blasting shall be carried out by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to protect stability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is prohibited). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 of general construction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling of unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for smooth riding. The recovery of 204.52 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 61357/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly compensated by him in all cases.	0.0 = 4
	Words	including GST In Rs. P				Excavation in earth work in hilly area by mechanical magnetic in the second sec	_
= ª	taxes including GST in	with all taxes			ρį	Sub-Head and items of works.	
=	Toatal Amount with	Toatal Amount	Estimated Rate (In	Unit	No. Or		_
	9200 One Month		Earnest Money Time)8 0	0/480 & 1/900 to 2/080	Name of Work:- Construction of road Punni to Naswar km 0/00 to 3/00 (SH:-ROFD From 0/290 to 0/330 ,0/450 to 0/480 &	Name o
	459430.00		Estimated Cost				

0110404	Quoted	Total in	4	ω	8		_	Name Sr.No.
Quoted Rate in Words	Quoted Rate in Figures	Total in Figures	Stone soling properly hand-packed filling interstices with Kharanja stone and consolidationg with power road roller to the requested gradient and comber including spreading watering and rolling of binding materials moorum or earth etc. complete as per HPPWD specification. 100 mm (one hundred millimetre) spread thickness (finished work including materials and labour) within all leads and lifts and other incidentals as per direction of Engineer-in Charge with in all leads and lifts and other incidentals.	Consolidation of sub-grade with road roller including making good the undulation etc. with earth or quarry soil etc. and re-rolling the sub-grade completed as per HP.PWD. Specifications as per direction of Engineer-in-Charge within all leads and lifts and other incidentals.	Preparation of sub grade by dressing to camber (Earth work for the cutting involved for sub-graded to be paid for separately depending upon the classification of Engineer-in-Charge within all leads and lifts and other incidentals.	construction for shoring and bracing removal of stamps and technical specification clause 305.1 including setting out 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including camage of material within all leads and lifts and other incidentals.	Sub-Head and items of works.	Name of Work:- Construction of Punni to Naswar road km 0/00 to 3/00 (SH:- P/L Kharanja Stone Soling in km RD 0/165 to 1/030)
			218.93	1459.76	1459.76	218.96	ay.	D 0/165
	Select		Per Cubic Meter	Per Square Meter	Per Square Meter	Per Cubic Meter	Unit.	to 1/030)
	TOTAL PROPERTY AND IN		1855.50	2.59	1.91	379.90	Estimated Rate (In Rs.)	Estimated Cost Earnest Money Time
	0.00	495977	40622	3781	2788	83183	Toatal Amount with all taxes including GST In Rs. P	
	00	77	406225 Rupees Four Lakhs Six Thousand Two Hundred Twenty Five and Paise Zero Only	3781 Rupees Three Thousand Seven Hundred Eighty One and Paise Zero Only	2788 Rupees Two Thousand Seven Hundred Eighty Eight and Paise Zero Only	83183 Rupees Eighty Three Thousand One Hundred Eighty Three and Paise Zero Only	Toatal Amount with all taxes including GST In Words	495977 10000 One Month

Name Sr.No	Name of Work:- C/O Kao to Kajaun road km 0/00 to 5/00 (SH:- C/O 900 mm dia RCC Hume Pipe culvert & wing wall at RD 0/205)	ing wall at	RD 0/205)	Estimated Cost Earnest Money Time		190230 3900 One Month
	Sub-Head and items of works.	No. Or City.	Unit.	Estimated Rate (In Rs.)	Toatal Amount	Toatal Amount with all taxes
	Excavation in soil in hilly area by mechancial emans including cutting and trimming of side slopes and disposition of				Including GST In Rs. P	including GST in Words
N	1603.1 as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other Providing and laving concepts (1997).	50.54	Per Cubic Meter	207.20	10472.00 F	10472.00 Rupees Ten Thousand Four Hundred Seventy Two and Paise Zen Only
	technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	25.55	Per Cubic Meter	5217.60	133310.00	133310.00 Rupees One Lakh Thirty Three Thousand Three Hundred Ten and Paise Zero Only
ဒ	Providing and laying reinforced cement concrete pipe NP2 for culverts on first class beeding of granular material in double row including fixing collar with cement morter 1:2 but excluding excavation, protection works, backfilling, concrete and masonary works in head walls and parapets as per clause 1106as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.	7.50	Per Running Meter	4573.70	34303.00	34303.00 Rupees Thirty Four Thousand Three Hundred Three and Paise Zero Only
	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	4.80	Per Cubic Meter	1289.00	6187.00	6187.00 Rupees Six Thousand One Hundred Eighty Seven and
5	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall, return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towards drawing	16.00	Each	372.40	5958.00	5958.00 Rupees Five Thousand Nine
0 2	face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.					Hundred Fifty Eight and Paise Zero Only
al in Figures	igures				190230.00	0
ted R.	ted Rate in Figures		Select		0.00	0
ted Ra	ted Rate in Words		Ze	Zero and Paise Zero Only		· ·

Karsog Division,
HPPWD, Karsog.

	1			•			
	1000	Name of Work:- C/O Kao to Kajaun road km 0/00 to 4/00 (SH:- C/O R/Wall at RD 0/255 to 0/270) SCDF			Estimated Cost Earnest Money Time		473683 9500 One Month
24		Sub-Head and items of works.	aty.	Unit	Estimated Rate (In Rs.)	Toatal Amount with all taxes	Toatal Amount with all taxes including GST In Words
	_	Earth work in excavation for structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as per drawing and technical excellential at the structure as the structur				including GST In Rs. P	
_		construction for shoring and bracing removal of stamps and other deletenous materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	50.40	Per Cubic Meter	207.20	10443.00 F	10443.00 Rupees Ten Thousand Four Hundred Forty Three and Paise Zero Only
,	N	Providing and laying concrete for plain Ireinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	72.14	Per Cubic Meter	5217.60	376398.00	376398.00 Rupees Three Lakhs Seventy Six Thousand Three Hundred Ninety Eight and Paise Zero Only
	ω	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	46.08	Per Cubic Meter	1289.00	59397.00	59397.00 Rupees Fifty Nine Thousand Three Hundred Ninety Seven
	4	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment, wing wall, return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	25.00	Each	372.40	9310.00	9310.00 Rupees Nine Thousand Three Hundred Ten and Paise Zero Only
	ري :	Construction of subgrade and earthen shoulder with approved materials obtained from borrow pits with in all leads and lifts, transporting to site, spreading, grading to required slope and compacted to meet requirement of table 300.02 with all leads upto 1000 mtrs. as per technical specification clause 303.01 as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	85.00	Per Cubic Meter	213.35	18135.00	18135.00 Rupees Eighteen Thousand One Hundred Thirty Five and Paise Zero Only
70	tal in F	Total in Figures				473683.00	0
Qu	oted R	Quoted Rate in Figures	12	Select		0.00	0
Que	oted R	Quoted Rate in Words		Zer	Zero and Paise Zero Only		



1	~
	=
: 1	Ħ
ı	O
ل	lame of
7	_
J	>
1	0
1	7
ı	ç
J	÷
ĺ	ىح
1	Ñ
ı	
ı	Š
ſ	5
l	ನ
l	ō
l	e
l	S
ı	0
ļ	3
l	Ś
l	2
Ĺ	ส
	Ē
ĺ	=
1	6
ĺ	-
	ଚ
	5
	ဗ္ဇ
,	ຮ
ľ	_
	7
ŀ	ಷ
	酉,
	_
1	╕
	=
	¥
	\geq
	\preceq
i	ਰ
	w
1	-
-	5
•	0
7	· A
:	"
:	•
	÷
:	≐:
3	3.
ä	?
4	-
9	1
	=
÷	Ξ'
t	5
9	2
_	•
9	2
7	
÷	•
¥	2
č	5
Ÿ	,
2	4
ç	5
9	2
Ē	i.
٥	,
۲	5
ž	
2	£
=	1
2	5
Ē	•
-	į.
۵)
=	7

Estimated Ra	mate nest Tin	mated Cost 98800 nest Money 2000 Time 26 Days ate Toatal Amount Toatal with all taxes taxes including GST in	Hiring of Tipper for on daily wages basis of carriage of materials Le. aggregate, stone, mud etc. up to any leads as per direction of Engineer-in Chaarge to Tipper minimum working hours @ 8.00 hrs. (eight hours) per day which shall include all expenses on account of establishment POL, repair and other over head charges the Tipper has to be perform not less than as prescribed in the rooms of HP and as per the direction of Engineer-in-Charge including carriage of materials and all labour equipment to various location through all modes of transportation in all leads and lifts.
Name of Work:- R/R Damages on Sanarli to Karsog road km 0/00 to 3/300 (SH:- Hiring of Tipper for disposal/carriage of material) Sr.No. Sub-Head and items of works.	Estimate	Estimated Cost Earnest Money Time Estimated Rate (In Rs.) with all taxes including GST In	
aterial) Unit.	Estimate (In R	Estimated Cost Earnest Money Time Estimated Rate (In Rs.) with all taxes including GST In	
	Estimate Earnest Tin Estimated Rate (In Rs.)	ted Cost it Money ime Toatal Amount with all taxes including GST in	Days

Quoted Rate in Figures	Total in Figures	1 Removal of land slide slip clearance:-Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slops and disposal of cut material with in all leads and lifts stacking the serviceable material and disposal of unserviceable material as per technical specification clause 302.3.5 and 1611 as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.	Sr.No. Sub-Head and items of works.	Name of Work:- R/R Damages on Sanarli to Karsog road Km. 0/00 to 3/300 (SH:- Removal of slips at various RD's)	
		d slide slip clearance:-Removal of land slide in hilly area in ordinary rock not requiring thanical means including cutting and trimming of slops and disposal of cut materiaL with in tacking the serviceable material and disposal of unserviceable material as per technical suse 302.3.5 and 1611 as per direction of Engineer-in-Charge with in all leads and lifts and s.	Sub-Head and items of works.	amages on Sanarli to Karsog road Km. 0/00 to 3/300 (SH:- Removal of slips at variou	
		1678.10	No. Or aty.	RD's)	
Select		Per Cubic Meter	Unit		
		126.40	Estimated Rate (In Rs.)	Time	Estimated Cost Earnest Money
	212112.00	212112.00	Toatal Amount with all taxes including GST In Rs. P		
	000	212112.00 Rupees Two Lakh Thirteen Thousand Six Hundered Thirty Nine and Paise Zero Only	Toatal Amount with all taxes including GST In Words	One Month	212112 4300

Quoted Rate in Words

470010 · 9400 One Month

Estimated Cost
Earnest Money
Time
Name of Work:- R/R Damages on Katanda to Pokhi road km 0/00 to 10/00 Karsog Sub-Division in Katanda Section (SH:- Removal of slips at various RD's)

Sr.No.	Sub-Head and items of works.	Oty.	Unit	Estimated Rate (In Rs.)	Toatal Amount with all taxes including GST In Rs. P	Toatal Amount wrth all taxes including GST in Words
	Removal of land slide slip clearance:-Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slops and disposal of cut material with in all leads and lifts stacking the serviceable material and disposal of unserviceable material as per technical specification clause 302.3.5 and 1611 as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.	3718.43	Per Cubic Meter	126.40	470010.00	470010.00 Rupees Four Lakhs Seventy Thousand Ten and Paise Zero Only
Total in					470010.00	
Quoted Rate in I	Quoted Rate in Figures		Select		0.00	
Duoted R	Onoted Rate in Words		Ze	Zero and Paise Zero Only		

Karsog Division, HPPWD, Karsog.

Nam Sr.N	Name of Work:- C/O of link road from Dateha to Harizan Basti Chova via Kehu road km 0/00 to 03/470 (SH:- C/O 900mm dia BCC Hump Diagram of Cost Estimated Cost 4900 Time One Mor	omm di		, , , , , , ,	Estimated Cost Earnest Money Time
	Sub-Head and items of works.	No. Or Oty.	Unit.		Estimated Rate (In Rs.)
	Construction for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including camage of material within all leads and lifts and other incidentals.	48.56 F	Per Cubic Meter	r bi	bic 207.20
2	<u>8</u>	2.02 F	Per Cubic Meter	ubic	ubic 4832.00 er
 ω	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	32.68	≅ હ્	Per Cubic Meter	Cubic 5246.60 eter
4	rete pipe NP2 for culverts on first class beeding of granular material in morter 1:2 but excluding excavation, protection works, backfilling, and parapets as per clause 1106as per direction of Engineer-in-Charge	7.50 Pe	ا " ح	Per Running Meter	Running 5438.20 Meter
თ	Back filling behind abutment wing wall, retaining wall, Breast Wall & Return Wall complete as per drawing & technical 5. Clause 1204.3.8 Granular materials. As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	5.70 F		Per Cubic Meter	er Cubic 1277.60 Meter
o	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 12 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	12.00		Each	Each 372.50
tal in	Total in Figures		ı l		
ã	Quoted Rate in Figures		Sele	Select	Select
ted	Quoted Rate in Words				



361999.00 7300 One Month

Name of Work:- Consruction of link road from Dateha to Harizan Basti Chova Via Kehu Road km 0/00 to 03/470 (SH:- Widening of road in km 00/180 to 00/405) Estimated Cost
Earnest Money
Time

Quoted	Quoted	Total in Figures	_	
Quoted Rate in Words	Quoted Rate in Figures	Figures	Excavation in earth work in hilly area by mechanical means all heights and depths, in all kind of soil including saturated soil comprising of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be carried out by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to protect stability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is prohibited). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 of general condition for contract to achieve designed formation width including hauling and stacking of material useful for construction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling of unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for smooth riding. The recovery of 171.74 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 51523/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly compensated by him in all cases.	Sub-Head and items of works.
			1610.10	No. Or Oty.
2	Select		Per Cubic Meter	Unit.
Zero and Paise Zero Only			224.83	Estimated Rate (In Rs.)
Y	0.00	361999.00	361999.00	with all taxes including GST In Rs. P
	00	00	361999.00 Rupees Three Lakhs Sixty One Thousand Nine Hundred Ninety Nine and Paise Zero Only	Toatal Amount with all taxes including GST in Words

362302 7300 One Month

Estimated Cost
Earnest Money
Name of Work:- Construction of Link road Dateha to Harizan Basti Chova Via Kehu road km 0/00 to 3/470 (SH:- Widening of road in km 0/420 to 0/705)SCDP Sr.No.

		Zero and Paise Zero Only	Ze		Quoted Rate in Words	Quoted
0	0.00	THE PROPERTY OF THE PERSON NAMED IN	Select		Quoted Rate in Figures	Quoted
0	362302.00				Total in Figures	Total in
362302.00 Rupees Three Lakhs Sixty Two Thousand Three Hundred Two and Paise Zero Only	362302.00	224.83	Per Cubic Meter	1611.45	Excavation in earth work in hilly area by mechanical means all heights and depths, in all kind of soil including saturated soil compnising of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be carried out by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to protect stability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is prohibited). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16:2 of general condition for contract to achieve designed formation width including hauling and stacking of material useful for construction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling of unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for smooth riding. The recovery of 171.89 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 51566/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly compensated by him in all cases.	
Words	Including GST In Rs. P					
taxes including GST In	with all taxes	Rs.)		Ω¥.	Sub-Head and items of works	
Toatal Amount with all	Toatal Amount	Estimated Rate (In	Unit.	No. Or		-

499562 10000 One Month

Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH:- C/O R/WallI at RD 6/030 to 6/034) Estimated Cost Earnest Money Time

		2000,				
Sr.No.		No. Or	Unit.	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	Qty.		Rs.)	with all taxes including GST In Rs. P	taxes including GST In Words
-	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	22.80	Per Cubic Meter	379.90	8662.00 H	Rupees Eight Thousand Six Hundred Sixty Two and Paise Zero Only
2	Providing and laying concrete for pain/reinforced concrete 1:4:8 (one cement : four sand : eight graded stone aggregte) in open foundations complete as per drawing and technical specification clauses 802,803.1202 and 1203 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	51.97	Per Cubic Meter	5445.50	283003.00	Rupees Two Lakhs Eighty Three Thousand Three and Paise Zero Only
ω	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment wing wall, return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	15.00	Each	392.00	5880.00	Rupees Five Thousand Eight Hundred Eighty and Paise Zero Only
4	Stone masonary in cement mortar for sub structure complete as per drawing and technical specification clause 702,704,1202 and 1204 in cement mortar 1:6 (one cement : six sand) R/R masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24.62	Per Cubic Meter	5140.40	126557.00	Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Seven and Paise Zero Only
თ	Construction of dry rubble masonry for retaining walls, breast walls, revetment walls and parapets etc. for sub-structure and super structure complete as per drawing and technical specification clauses 704 704.6& 1302.5 within all leads and lifts and other incidentals	17.34	Per Cubic Meter	3150.00	54621.00	Rupees Fifty Four Thousand Six Hundred Twenty One and Paise Zero Only
ი	Back filling behind abutment wing wall, retaining wall, Breast Wall & Return Wall complete as per drawing & technical clause 1204.3.8 Granular materials. As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	6.84	Per Cubic Meter	1206.00	8249.00	Rupees Eight Thousand Two Hundred Forty Nine and Paise Zero Only
7	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	10.00	Per Cubic Meter	1259.00	12590.00	Rupees Twelve Thousand Five Hundred Ninety and Paise Zero Only
Total in Figures	Figures				499562.00	.00
Quoted	Quoted Rate in Figures		Select	· · · · · · · · · · · · · · · · · · ·	0	0.00
Quoted	Quoted Rate in Words			Zero and Paise Zero Only	Υ	

Estimated Cost 498397
Earnest Money 10000
Time One Month

	Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH:- C/O R/Walli at RD 6/034.1
20	R/WallI at RD 6/034.10 to
=	o 6/038.10)

)	Quoted Rate in Figures	Total in Figures	7 Provi hund, behin specit and o	6 Back 1204 other	5 Cons super	4 Stone and direct	3 Providia Pidia Pidirec	2 Prov found Char	1 Eart for s and Engi	Sr.No.
Quoted Rate in Words	in Figures	es	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	Back filling behind abutment wing wall, retaining wall, Breast Wall & Return Wall complete as per drawing & technical clause 1204.3.8 Granular materials. As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	Construction of dry rubble masonry for retaining walls, breast walls, revetment walls and parapets etc. for sub-structure and super structure complete as per drawing and technical specification clauses 704 704.6& 1302.5 within all leads and lifts and other incidentals	Stone masonary in cement mortar for sub structure complete as per drawing and technical specification clause 702,704,1202 and 1204 in cement mortar 1:6 (one cement : six sand) R/R masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	Providing and laying concrete for pain/reinforced concrete 1:4:8 (one cement : four sand : eight graded stone aggregte) in open foundations complete as per drawing and technical specification clauses 802,803,1202 and 1203 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	Sub-Head and items of works.
			9.80	6.24	17.34	24.62	12.00	51.97	25.40	No. Or Qty.
7	Select		Per Cubic Meter	Per Cubic Meter	Per Cubic Meter	Per Cubic Meter	Each	Per Cubic Meter	Per Cubic Meter	Unit
Zero and Paise Zero Only	2011年日の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本		1259.00	1206.00	3150.00	5140.40	392.00	5445.50	379.90	Estimated Rate (In Rs.)
	0.	498397.00	12338.00	7525.00	54621.00	126557.00	4704.00	283003.00	9649.00	Toatal Amount with all taxes including GST in Rs. P
	0.00	00	Rupees Twelve Thousand Three Hundred Thirty Eight and Paise Zero Only	Rupees Seven Thousand Five Hundred Twenty Five and Paise Zero Only	Rupees Fifty Four Thousand Six Hundred Twenty One and Paise Zero Only	Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Seven and Paise Zero Only	Rupees Four Thousand Seven Hundred Four and Paise Zero Only	Rupees Two Lakhs Eighty Three Thousand Three and Paise Zero Only	Rupees Nine Thousand Six Hundred Forty Nine and Paise Zero Only	Toatal Amount with all taxes including GST in Words

Name Sr.No	Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH:- C/O R/Walll at RD 6/038.20 to 6/042.20)	0 to 6/042	2.20)	Estimated Cost Earnest Money Time		496743 10000 One Month
	Sub-Head and items of works.	No. Or	Jnit	Estimated Rate (In Rs.)	Toatal Amount with all taxes	Toatal Amount with all taxes including GST In
_	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting and contact of the structure as per drawing and technical specification clause 305.1 including setting and contact of the structure as per drawing and technical specification clause 305.1 including setting and contact of the structure as per drawing and technical specification clause 305.1 including setting setting and technical specification clause 305.1 including setting s				including GST In Rs. P	Words
N	and bottom and back filling in trenches with excavated suitable materials and desposal up to a lead of 50 mtrs dressing of side Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals. Providing and laying congrete for pain/reinforced.	21.44	Per Cubic Meter	379.90	8145.00	8145.00 Rupees Eight Thousand One Hundred Forty Five and Paise Zero Only
	foundations complete as per drawing and technical specification clauses 802,803.1202 and 1203 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	51.97	Per Cubic Meter	5445 50	283003.00	283003.00 Rupees Two Lakhs Eighty
ω	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment, wing wall, return wall with 100 mm		חו			Paise Zero Only
	direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	12.00	пасп	392.00	4704.00	4704.00 Rupees Four Thousand Seven Hundred Four and Paise Zero Only
	and 1204 in cement mortar 1:6 (one cement : six sand) RVR masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24.62	Per Cubic Meter	5140.40	126557.0x	126557.00 Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Seven and Paice Zero Only
ڻ.	Construction of dry rubble masonry for retaining walls, breast walls, revetment walls and parapets etc. for sub-structure and super structure complete as per drawing and technical specification clauses 704.704.68, 1302.5 within all took and like and		Per Cubic		54621.0	54621.00 Rupees Fifty Four Thousand
6	Other incidentals Back filling behind abutment wing wall retaining wall. Breast Wall & Return Wall complete as not drawing a technical design.	17.34	Meter	3150.00		Six Hundred Twenty One and Paise Zero Only
	1204.3.8 Granular materials. As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and	5	Per Cubic		6368.	6368.00 Rupees Six Thousand Three
1	other incidentals.	07.20	, victor	1206.00		Hundred Sixty Eight and Paise Zero Only
	hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface		Per Cubic Meter		13345	13345.00 Rupees Thirteen Thousand
8 17	behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts	10.60	Neter	1259.00		Paise Zero Only
n	and other incidentals.					
Total in Figures	igures				496743.00	3.00
Quoted R	Quoted Rate in Figures		Select			0.00
Directed R	Outed Bate in Words			Zero and Paice Zero Only		

		Zero and Paise Zero Only	Ze		in Words	Quoted Rate in Words
0.00		WASHINGTON BUILDING THE PERSON BUILDING THE PE	Select		Quoted Nate in Figures	Tuoted Kat
3.00	499046.00				ures	Total in Figures
Rupees Thirteen Thousand Six Hundred Ninety Eight and Paise Zero Only	13698.00	1259.00	Per Cubic Meter	10.88	hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	-
Rupees Six Thousand One Hundred Seventy Five and Paise Zero Only	6175.00	1206.00	Per Cubic Meter	5.12	1204.3.8 Granular materials. As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	of O
Rupees Fifty Four Thousand Six Hundred Twenty One and Paise Zern Only	54621.00	3150.00	Per Cubic Meter	17.34	super structure complete as per drawing and technical specification clauses 704 704.6& 1302.5 within all leads and lifts and other incidentals.	`
Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Seven and Paise Zero Only	126557.00	5140.40	Per Cubic Meter	24.62	and 1204 in cement mortar 1:6 (one cement: six sand) R/R masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals as per continuity of the control of the	7
Rupees Four Thousand Seven Hundred Four and Paise Zero Only	4704.00	392.00	Each	12.00	dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals. Stone masonary in cement mortar for sub structure complete as per decision and lifts and other incidentals.	4
Rupees Two Lakhs Eighty Three Thousand Three and Paise Zero Only	283003.00	5445.50	Per Cubic Meter	51.97	Charge including carriage of material within all leads and lifts and other incidentals. 1202 and 1203 as per direction of Engineer-in-Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutings the second specific and some providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutings the second specific and the second specific and the second specific and the second specific and the second specific abuting the second specific and the second specific a	ω
Rupees Ten Thousand Two Hundred Eighty Eight and Paise Zero Only	10288.00	379.90	Per Cubic Meter	27.08	and bottom and back filling in trenches with excavated suitable materials and desposal up to a lead of 50 mirs dressing of side Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals. Providing and laying concrete for paint/reinforced concrete 1:4:8 (one cement four eard to be the conditions).	2
Words	including GST in Rs. P				Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and having and technical specification clause 305.1 including setting out construction	-
Toatal Amount with all	Toatal Amount with all taxes	Estimated Rate (In Rs.)	Unit	Qty.	Sub-Head and items of works.	
499046 10000 . One Month		Estimated Cost Earnest Money Time	:.30)	RD 6/042.30 to 6/046.30)	Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km. 0/00 to 9/00 (SH:- C/O R/Walli at RD 6/042	Name Sr.No.

Sr.N	Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km 0/00 to 9/00 (SH:- C/O R/Wall at RD 6/46.40 to 6/050.40)			Estimated Cost Earnest Money Time	Cost 493947 floney 9900 - One Month
	Sub-Head and items of works.	Qty.	Unit	Estimated Rate (In Rs.)	Toatal Amount with all taxes including GST in
-1					Rs. P
,		20.48	Per Cubic Meter 379.9		7780.352
Ν	sand : eight graded stone aggregte) in open 202 and 1203 as ner direction of Engineering	51.97	Per Cubic Meter 5445.5	6445.5	283002.635
ω	neer-in-				
	dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.		Each	392	4704
4	Stone masonary in cement mortar for sub structure complete as per drawing and technical specification clause 702,704,1202 and 1204 in cement mortar 1:6 (one cement : six sand) RVR masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24.62	Per Cubic Meter 5140.4	5140.4	126556.648
5	Construction of dry rubble masonry for retaining walls, breast walls, revetment walls and parapets etc. for sub-structure and super structure complete as per drawing and technical specification clauses 704 704.6& 1302.5 within all leads and lifts and other incidentals	17.34	Per Cubic Meter 3150	3150	54621
6	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as 4.6 per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.		Per Cubic Meter 1206	1206	5547.6
7	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six 9.3 hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	9.32	Per Cubic Meter 1259	1259	11733.88
Total in Figures	Figures				493947
Quoted f	Quoted Rate in Figures		Select		0.00
Quoted F	Quoted Rate in Words		Ze	Zero and Paise Zero Only	



		Zero and Paise Zero Only	Zer		e in Words	Juoted Rate in Words
0	0.00		Select		Quoted Rate in Figures	Quoted Rat
						-
7	496707				qures	Total in Figures
<u>u</u>	12439				and other indicentals.	and
Rupees Twelve Thousand Four Hundred Thirty Eight and Paise Ninety Two Only		1259.00	Per Cubic Meter	9.88	hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts	ber spe
Rupees Five Thousand Eight Hundred Eighty Five and Paise 5885 Twenty Eight Only	5885	1206.00	Per Cubic Meter	4.88	per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals. Providing and Laving filter media with granular coulsed accreages as per specification to a thickness of pot less than 500 miles.	7 Pro
Rupees Fifty Four Thousand Six Hundred Twenty One and 54621 Paise Zero Only	54621	3150.00	Per Cubic Meter	17.34	super structure complete as per drawing and technical specification clauses 704 704.6& 1302.5 within all leads and lifts and other incidentals. Back filling behind abutment wing wall and retaining wall complete as per drawing & technical technical specification.	6 Ba
Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Six and Paise Sixty Four Only	126557	5140.40	Per Cubic Meter	24.62	and 1204 in cement mortar 1:6 (one cement: six sand.) R/R masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals. Construction of dry rubble masonry for retaining walls, breast walls, revertinent walls and parameters to force the direction of the contraction.	5
Only	4704				Stone masonary in cement mortar for sub structure complete as per drawing and technical specification clause 700 704 4000	4
Rupees Four Thousand Seven Hundred Four and Paise Zero		392.00	Each	12.00	direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	
Rupees Two Lakhs Eighty Three Thousand Two and 283003 Paise Sixty Three Only	283003	5445.50	Per Cubic Meter	51.97	Charge including carriage of material within all leads and lifts and other incidentals. Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action used to be a provided to the concrete abutment wing well action of Engineer-in-	ω ₀
raise rity Only	9498				Providing and laying concrete for paint/reinforced concrete 1:4:8 (one cament : four sand : eight graded stone aggregle) in one foundations complete as per drawing and technical providing the concrete 1:4:8 (one cament : four sand : eight graded stone aggregle) in one foundations complete as per drawing and technical providing the concrete 1:4:8 (one cament : four sand : eight graded stone aggregle) in one foundations complete as per drawing and technical providing the concrete 1:4:8 (one cament : four sand : eight graded stone aggregle) in one foundations complete as per drawing and technical providing the concrete 1:4:8 (one cament : four sand : eight graded stone aggregle) in one foundations complete as per drawing and technical providing the concrete 1:4:8 (one cament : four sand : eight graded stone aggregle) in one foundations complete as per drawing and technical providing the concrete 1:4:8 (one cament : four sand : eight graded stone aggregate) in one foundations complete as per drawing and technical providing the concrete the concre	~~~
Rupees Nine Thousand Four Hundred Ninety Seven and Paice Fifty Coll.		379.90	Per Cubic Meter	25.00	and bottom and back filling in trenches with excavated suitable materials and desposal up to a lead of 50 mtrs dressing of side Engineer-in-Charge including carriage of material within all leads and lifts and other incidental.	,
Words	Rs. P				Earth work in excavation for structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing and technical specification clause 305.4 including a structure as per drawing a structu	-
Toatal Amount with all taxes including GST in	Toatal Amount with all taxes	Estimated Rate (In	Onic	Qty.	Sub-Head and items of works.	
				No 07		
One Month		Time		to cost	Sr.No. Sr.No. Oamages on Kuthed Rashog Deyom road Km 0/00 to 9/00 (SH:- C/O R/Wall at RD 6/050 50 to 6/054 50)	Sr.No.
496707		Earnest Money			of Wart. Did Daniel	Name
		Пэ «I— за д				



Quoted Rate in Figures	Total in Figures	Introvding and Laying futer media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	6 Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	Ĺ	1] '	_	for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals. 2 Providing and laving concrete for nainferior of species 13.48 for the second of	Sub-Head and items of works 1 Earth work in excavation for structure as per drawing and technical constitution.	Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km 0/00 to 9/00 (SH:- C/O R/Wall at RD 6
		spectrication to a thickness of not less than 600mm(six ands the wall and providing over the entire surface in condition complete as per drawing and technical cluding carriage of materials with in all lead and lifts	drawing & technical specification clause 1204.3.8 as all leads and lifts and other incidentals.	stment walls and parapets etc. for sub-structure and ses 704 704.6& 1302.5 within all leads and lifts and	ving and technical specification clause 702,704,1202 rith in all lead and lifts and other incidentals as per leads and lifts and other incidentals.	d concrete abutment, wing wall, return wall with 100 mm 1(v):20 (H) towads drawing face complete as per I leads and lifts and other incidentals.	ement: four sand: eight graded stone aggregte) in open s 802,803.1202 and 1203 as per direction of Engineer-in-incidentals.	circation clause 305.1 including setting out construction als and desposal up to a lead of 50 mtrs dressing of side is ordinary soil upto 3mtrs depth as per direction of fts and other incidentals.	of works.	Km 0/00 to 9/00 (SH:- C/O R/Wall at RD 6/054.60
		8.40		17.34	24.62	12.00	51.97	21.80	No. Or Qty.	/054.60 to 6/058.60
Select		Per Cubic Meter	Per Cubic Meter	Per Cubic Meter	Per Cubic Meter	Each	Per Cubic Meter	Per Cubic Meter	Unit.	.60)
		1259.00	1206.00	3150.00	5140.40	392.00	5445.50	379.90	Estimated Rate (In Rs.)	Estimated Cost Earnest Money Time
0.00	492471	10576	4728	54621	126557	4704	283003	8282	Toatal Amount with all taxes including GST In Rs. P	
3		10576 Rupees Ten Thousand Five Hundred Seventy Five and Paise Sixty Only	4728 Rupees Four Thousand Seven Hundred Twenty Seven and Paise Fifty Two Only	54621 Rupees Fifty Four Thousand Six Hundred Twenty One and Paise Zero Only	126557 Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Six and Paise Sixty Four Only	4704 Rupees Four Thousand Seven Hundred Four and Paise Zero Only	283003 Rupees Two Lakhs Eighty Three Thousand Two and Paise Sixty Three Only	8282 Rupees Eight Thousand Two Hundred Eighty One and Paise Eighty Two Only	Toatal Amount with all taxes including GST In Words	492471 9900 One Month



Nam Sr.N	Name of Work:- R/R Damages on Kuthed Rashog Deyom road Km 0/00 to 9/00 (SH:- C/O R/Wall at RD 6/058.70 to 6/062.70)	to 6/062.	70)	Estimated Cost Earnest Money Time		495238 10000 One Month
	- Sub-Head and items of works.	Oty.	Unit.	Estimated Rate (In Rs.)	Toatal Amount with all taxes including GST In	Toatal Amount with all taxes including GST in Words
-1	Earth work in excavation for structure as per drawing and technical specification clause 205 1 includes				Rs. P	
	for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3 mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	27.08	Per Cubic Meter	379.90	10288 F	10288 Rupees Ten Thousand Two Hundred Eighty Seven and Paise Sixty Nine Only
ν.	Providing and laying concrete for pain/reinforced concrete 1:4:8 (one cement: four sand: eight graded stone aggregte) in open foundations complete as per drawing and technical specification clauses 802,803,1202 and 1203 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	51.97	Per Cubic Meter	5445.50	283003	283003 Rupees Two Lakhs Eighty Three Thousand Two and
ω	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment wing wall return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	12.00	Each	392.00	4704	Paise Sixty Three Only 4704 Rupees Four Thousand Seven Hundred Four and Paise Zero Only
4	Stone masonary in cement mortar for sub structure complete as per drawing and technical specification clause 702,704,1202 and 1204 in cement mortar 1.6 (one cement : six sand) R/R masonary with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24.62	Per Cubic Meter	5140.40	126557	126557 Rupees One Lakh Twenty Six Thousand Five Hundred Fifty Six and Paise Sixty Four Only
5	Construction of dry rubble masonry for retaining walls, breast walls, revetment walls and parapets etc. for sub-structure and super structure complete as per drawing and technical specification clauses 704 704.68, 1302.5 within all leads and lifts and other incidentals	17.34	Per Cubic Meter	3150.00	54621	54521 Rupees Fifty Four Thousand Six Hundred Twenty One and
6	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	4.76	Per Cubic Meter	1206.00	574	5741 Rupees Five Thousand Seven Hundred Forty and Paise Fifty
7 Para Sara Para Para Para Para Para Para	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	8.20	Per Cubic Meter	1259.00	1032	10324 Rupees Ten Thousand Three Hundred Twenty Three and Paise Eighty Only
Total in Figures	igures				495238	38
noted Ba				2		6
	Account National International States		Select			
uoted Ra	Quoted Rate in Words		Ze	Zero and Paise Zero Only	¥	

		Zero and Paise Zero Only	Ze		Quoted Rate in Words	uoted Ra
3	0.00		Select		Quoted Rate in Figures	uoted R
	414959.00				igures	Total in Figures
7435.00 Rupees Seven Thousand Four Hundred Thirty Five and Paise Zero Only	7435.00	371.75	Each	20.00	Providing weep holes in bnck masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including camage of materials within all leads and lifts and other incidentals.	4 7 ← Ω ፫
391853.00 Rupees Three Lakhs Ninety One Thousand Eight Hundred Fifty Three and Paise Zero Only	391853.00	5140.40	Per Cubic Meter	76.23	providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	
15671.00 Rupees Fifteen Thousand Six Hundred Seventy One and Paise Zero Only	15671.00	379.90	Per Cubic Meter	41.25	construction for shoring and bracing removal of stamps and other deletenous materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3 mtrs depth as per direction of Engineer-in-Charge including camage of material within all leads and lifts and other incidentals.	
Words	Rs. P				Earth work in excavation for structure as per drawing and technical specification clause 305.1 including	-
Toatal Amount with all taxes including GST In	Toatal Amount with all taxes including CST in	Estimated Rate (In Rs.)	Unit.	Oty.	Sub-Head and items of works.	
414959 8300 One Month		Estimated Cost Earnest Money Time	030 to 1/052)	RD km 1/	Name of Work:- R/R Damages on link road Kot to Chindi via Jabban road Km. 0/00 to 3/00 (SH:- C/O B/Wall at RD km 1/030 to 1/052)	Name o

Percentage Schedule of Quantity

nting etc.)

Debog 7 Well (

Percent
Tender hyving Authority: Executive Engineer, HP-PWD. Divison Karsog
Name of Work: Special Repair to Govt. Sr. Sec. School Shakra, Tehsil Karsog Distt. Mandi HP (SH:- Plastering work, Distempring & Painting etc.)

Name of the Bidderf Bidding
Firm /
Company:

		Select		Quoted Rate in Figures
				Total in Figures
	-	Meter		roofs. Grund floor & first floor or as per direction of Engineer-in-Charge including carriage of material within all leads, lifts and other incidental.
	102.00	Per Square	437.00	B Distempering (two coat) with oil bond washable distemper of apprved brand and manufacture and of required shade
		Meter		
	85.00	Per Square	113.55	7 Distempering (two coat) with oil bond wash-able distemper of approved brand and manufactue and of required
	86.00	Per Square Meter	57.60	Painting one coat (excluding priming ceret on prveiously painted woood and wood basd Surfacees with enamel paint to give an even shade or as per direction of Engineer-in-Charge including carriage of material within all leads, lifts and other incidental.
	98.00	Per Square Meter	53.91	
	52.20	Per Square Meter	8.82	direction of Engineer-in-Charge including carriage of material within all leads, lifts and other incidental.
	110.25	Per Square Meter	368.98	
	193.00	Meter	70.04	cement and thick coat of lime wash on top of walls when dry for bearing of RCC slabs and beams or as per direction of Engineer-in-Charge including carriage of material within all leads, lifts and other incidental.
+	105.00	Per College	40.82	2 6 mm (six millimeter) cement plaster of mix 1:3 (one cement : three fine sand) finished with a floating coat of neat
	259.40	Per Square Meter	328.16	plastering upto foor any level or as per direction of Engineer-in-Charge including carriage of material within all leads, lifts and other incidentals.
53	6	5	4	1 15 mm (Fifteen millimoter)
	taxes including GST in Figures To be entered by the Bidder Rs. P		,	
TOTAL AMOUNT	RATE with all	Units	Quantity	No. Item Description



Estimated Cost
Earnest Money

498496 10000 One Month

Name o	Name of Work:- C/O Link road Dawaru to Talehan Km.0/00 to 4/400 (SH:- C/O stone soling properly hand packed in km.2/00 to 2/350)	d in km.:	2/00 to 2/350)	Time		One Month
Sr.No.		No. Or	Unit	Estimated Rate (In	Toatal Amount	Toatal Amount with all
		Qty.			with all taxes	taxes including GST In
_	Sub-Head and items of works.				including GST In Rs. P	Words
	Preparation of sub grade by dressing to camber (Earth work for the cutting involved for sub-graded to be paid for separately depending upon the classification of Engineer-in-Charge within all leads and lifts and other incidentals.	1155.00	Per Square Meter	1.80	2079.00	2079.00 Rupees Two Thousand Seventy Nine and Paise Zero Only
2	Consolidation of sub-grade with road roller including making good the undulation etc. with earth or quarry soil etc. and re-rolling the sub-grade completed as per HP.PWD. Specifications as per direction of Engineer-in-Charge within all leads and lifts and other incidentals.	1155.00	Per Square Meter	1.00	1155,00	Hundred Fifty Five and Paise Zero Only
				106/3/	00 090500	495262 00 Runees Four Lakhs Ninety
ω	Stone soling properly hand-packed filling interstices with Kharanja stone and consolidationg with power road roller to	265.65	Meter	001		Five Thousand Two
	complete as not HDBWD specification 100 mm (one hundred millimetre) spread flickness (finished work including					Hundred Sixty Two and
	materials and labour) within all leads and lifts and other incidentals as per direction of Engineer-in Charge with in all					Paise Zero Only
Total in Eiguros	Torron .				498496.00	0
Onoted	Principal Rate in Figures		Select .		0.00	
Ounted	Outled Bate in Words					

Name of Work:- C/O Link road Dawaru to Talehan Km.0/00 to 4/400 (SH:- P/L sto Estimated Cost
Earnest Money
Time 356069 7200 One Month

Sr.No.			0- 115#	Cotimotod Data		
-		No. Or	Unit	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	Qty.		Rs.)	with all taxes including GST In Rs. P	taxes including GST In Words
_	Preparation of sub grade by dressing to camber (Earth work for the cutting involved for sub-graded to be paid for separately depending upon the classification of Engineer-in-Charge within all leads and lifts and other incidentals.	825.00	Per Square Meter	1.80	1485.00	1485.00 Rupees One Thousand Four Hundred Eighty Five and Paise Zero Only
2	Consolidation of sub-grade with road roller including making good the undulation etc. with earth or quarry soil etc. and re-rolling the sub-grade completed as per HP.PWD. Specifications as per direction of Engineer-in-Charge within all leads and lifts and other incidentals.	825.00	Per Square Meter	1.00	825.00	825.00 Rupees Eight Hundred Twenty Five and Paise Zero Only
ω	Stone soling properly hand-packed filling interstices with Kharanja stone and consolidationg with power road roller to the requested gradient and comber including spreading watering and rolling of binding materials moonum or earth etc. complete as per HPPWD specification. 100 mm (one hundred millimetre) spread thickness (finished work including materials and labour) within all leads and lifts and other incidentals as per direction of Engineer-in Charge with in all	189.75	Per Cubic Meter	1864.34	353759.00	353759.00 Rupees Three Lakhs Fifty Three Thousand Seven Hundred Fifty Nine and Paise Zero Only
Total in Figures	Figures				356069.00	0
Quoted I	Quoted Rate in Figures		Select		0.00	0
Quoted F	Quoted Rate in Words					

					Quoted Rate in Words	led Rat	Quot
0.00	0.1	NAME AND ADDRESS OF THE OWNER,	Select		Quoted Rate in Figures	ted Rat	Quot
00	356069.00				gures	Total in Figures	Tota
Hundred Fifty Nine and Paise Zero Only						ma	
353759.00 Rupees Three Lakhs Fifty Three Thousand Seven	353759.0	1864.34	Per Cubic Meter	189.75	Stone soling properly hand-packed filling interstices with Kharanja stone and consolidationg with power road roller to the requested gradient and comber including spreading watering and rolling of binding materials moonum or earth etc.		ω
825.00 Rupees Eight Hundred Twenty Five and Paise Zero Only	825.0	1.00	Per Square Meter	825.00	(consolidation of sub-grade with road roller including making good the undulation etc. with earth or quarry soil etc. and re-rolling the sub-grade completed as per HP.PWD. Specifications as per direction of Engineer-in-Charge within all leads and lifts and other incidentals.	2 6 9	
1485.00 Rupees One Thousand Four Hundred Eighty Five and Paise Zero Only	1485.00	1.80	Per Square Meter	825.00	separately depending upon the classification of Engineer-in-Charge within all leads and lifts and other incidentals.		
Toatal Amount with all taxes including GST in Words	Toatal Amount with all taxes including GST In Rs. P	Rs.)		aty.	Sub-Head and items of works.	_ I	T
356069 7200 One Month		Estimated Cost Earnest Money Time //150 to 5/400)	cked in km. 5	y hand pa	Es Name of Work:- C/O Shakra Parlog road up to village Bindla km. 0/00 to 6/250 (SH:- P/L stone soling properly hand packed in km. 5/150 to 5/400) Sr.No.	Name of	w] z

Estimated Cost Earnest Money Time

300797 6100 One Month

Name	Name of Work:- C/O Link road Dawaru to Talehan Km.0/00 to 4/400 (SH:- C/O B/Wall at RD 2/450 to 2/465)			Time		One Month
0114		No. Or	Unit.	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	oşy.			with all taxes including GST in Rs. P	taxes including GST in Words
-4	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	46.41	Per Cubic Meter	379.90	17631.00	17631.00 Rupees Seventeen Thousand Six Hundred Thirty One and Paise Zero Only
N	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	53.64	Per Cubic Meter	5140.40	275731.00	275731.00 Rupees Two Lakhs Seventy Five Thousand Seven Hundred Thirty One and Paise Zero Only
ω	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	20.00	Each	371.75	7435.0	Four Hundred Thirty Five and Paise Zero Only
otal in	Total in Figures				300797.00	00
loted I	Quoted Rate in Figures		Select	国 非对极党领域的影响	0.0	0.00
oted F	Quoted Rate in Words					

Estimated Cost
Earnest Money
Time

398984 8000 One Month

Name	Name of Work:- R/R Damages on Kandi Dharkandiu road Km. 0/00 to 6/150 /SH C/O R/Wall at DD 2/180 to 2/195)	-		lime		One Month
Sr.No.		No. Or	Unit	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	Ωτ <u>γ</u> .		Rs.)	with all taxes including GST In Rs. P	taxes including GST In Words
_	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	33.08	Per Cubic Meter	379.90	12567.00	12567.00 Rupees Twelve Thousand Five Hundred Sixty Seven and Paise Zero Only
2	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10 (one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	70.63	Per Cubic Meter	5140.40	363066.00	363066.00 Rupees Three Lakhs Sixty Three Thousand Sixty Six and Paise Zero Only
ω	Providing weep holes in bnck masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	28.00	Each	371.75	10409.00	10409.00 Rupees Ten Thousand Four Hundred Nine and Paise Zero Only
4	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including camage of material within all leads and lifts and other incidentals.	10.13	Per Cubic Meter	1277.55	12942.00	12942.00 Rupees Tweive Thousand Nine Hundred Forty Two and Paise Zero Only
Total in Figures	Figures				398984.00	Ó
Quoted	Quoted Rate in Figures		Select		0.00	0
Quoted F	Quoted Rate in Words		Ze	Zero and Paise Zero Only		



Estimated Cost
Earnest Money
Time

481903 9700 One Month

Name of Work:- C/O Alsindi to Badyog road km 0/00 to 6/555 (SH:- 5/7 mtr Wide

compensated by him in all cases.
during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly
be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property
smooth riding. The recovery of 264.64 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 79392/- only. shall
unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for
construction at suitable sites and safe disposal of unsuitable cut materials in specified manner trimming filling of
conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 of general
width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in
All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes
camed out by lawing all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to
saturated soil compnsing of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be
Excavation in earth work in hilly area by mechanical means all heights and depths, in all kind of soil including
The state state of the state of
Sub-Head and items of works

Name of Work:- C/O Alsindi to Badyog road km 0/00 to 6/555 (SH:- 5/7 mtr Wide road in km 5/660 to 5/705)SCDP

Estimated Cost 496984
Earnest Money 10000
Time One Month

Quoted F	Quoted I	Total in Figures				
Quoted Rate in Words	Quoted Rate in Figures	igures	saturated soil compnising of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be carried out by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to protect stability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is prohibited). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 of general condition for contract to achieve designed formation width including hauling and stacking of material useful for construction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling of unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for smooth riding. The recovery of 272.93 cubic metre @ Rs. 300/- per cubic metre amounting to Rs.81879/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly compensated by him in all cases.	Excavation in earth work in hilly area by mechanical moons all basis.	Sub-Head and items of works.	
			1186.66		Qty.	2
2	Select .		Per Cubic Meter	,	טחת	
Zero and Paise Zero Only	THE REPORT OF THE PARTY OF THE		418.81		Rs.)	
	0.	496984	496984	including GST In Rs. P	Toatal Amount with all taxes	
	0.00	84	A96984 Rupees Four Lakhs Ninety Six Thousand Nine Hundred Eighty Three and Paise Sixty Two Only	Words	Toatal Amount with all taxes including GST In	

Karsog Division,
HPPWD, Karsog.

Name of Work:- C/O Alsindi to Badyog road km 0/00 to 6/555 (SH:- 5/7 mtr Wide road in km 5/705 to 5/750)SCDP

Estimated Cost 499873
Earnest Money 10000
Time One Month

Quoted	Quoted	Total in Figures	_	Sr.No.
Quoted Rate in Words	Quoted Rate in Figures	Figures	Excavation in earth work in hilly area by mechanical means all heights and depths, in all kind of soil including saturated soil comprising of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be carried out by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to protect stability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is prohibited). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 of general condition for contract to achieve designed formation width including hauling and stacking of material useful for construction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling of unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for smooth riding. The recovery of 274.51 cubic metre @ Rs. 300/- per cubic metre amounting to Rs.82353/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly compensated by him in all cases.	Sub-Head and items of works.
			1193.56	No. Or Qty.
7.	Select		Per Cubic Meter	Unit
Zero and Palse Zero Only	The State of		418.81	Estimated Rate (In Rs.)
	0.00	499873	499873	Toatal Amount with all taxes including GST In Rs. P
	00	73	499873 Rupees Four Lakhs Ninety Nine Thousand Eight Hundred Seventy Three and Paise Zero Only	Toatal Amount with all taxes including GST In Words

Karsog Division, HPPWD, Karsog.

Le of Work:- C/O Play Ground of Govt. Sr. Sec. School at Tattapani Tehsil Karsog Distt. Mandi (SH:-Removal of slip,cutting in earth work and boundary wall) Estimated Cost
Earnest Money 447502 9000 One Month

r.No.	The state of the s	/ai of Silb,	cutting in ear	in work and bounda	ary wall)	
3	Sub-Head and items of works.	oty.	Onit.	Rs.)	with all taxes including GST in	Toatal Amount with all taxes including GST In Words
-	Removal of land slide slip clearance: Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slops and disposal of cut material with in all leads and lifts stacking the serviceable material and disposal of unserviceable material as per technical specification clause 302.3.5 and 1611 as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.	743.96	Per Cubic Meter	90.00	66956.00	66956.00 Rupees Sixty Six Thousand Nine Hundred Fifty Six and Paise Zero Only
N	Earth work in excavation by mechanical means (Hydrolic exacavator) manual means in foundation trenches of drains (not exceeding 1.5 mtrs in width 10sqm on plan)including dressing of sides and remaining of bottoms, lift upto 1.5 mtrs, including getting out the exacavated soil and disposal of surpllus exacavated soil as directed, within a lead 50mtrs as per direction of engineer in charge with in all lead and lifts and other incidentals.	111.51	Per Cubic Meter	196.00	21856.00	21856.00 Rupees Twenty One Thousand Eight Hundred Fifty Six and Paise Zero Only
ü	Excavation in hilly area in ordinary rock by mechancial means including cutting and trimming of side slopes and disposing of excavated earth with in a lift up to 1.5 mtrs and technical specification clasue 1603.2 (J.W) as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	148.58	Per Cubic Meter	320.00	47546.00	47546.00 Rupees Forty Seven Thousand Five Hundred Forty Six and Paise Zero Only
4	Excavation in hilly area in ordinary rock by mechancial means including cutting and trimming of side slopes and disposing of excavated earth with in a lift up to 20 mtrs and technical specification clasue 1603.20 50 (B.W) as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	111.51	Per Cubic Meter	484.00	53971.00	53971.00 Rupees Fifty Three Thousand Nine Hundred Seventy One and Paise Zero Only
÷ 5	Brick work using common burnt clay building bricks in foundation and plinth in 2nd class brick cement mortar 1:6 (1:cement 6: sand) as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24,84	Per Cubic Meter	7516.00	186697.0	186697.00 Rupees One Lakh Eighty Six Thousand Six Hundred Ninety Seven and Paise Zero Only
6 Q: 0: D 1	15mm (fifteen millimeter) cement plaster in single coat on the fair side of brick/concrete / stone wall for interior plastering upto floor all level including arises, internal rounded angles, chamfers and /or rounded angles not exceeding 80mm (Eighty millimeter) in girth and finished smooth in cement mortar 1:6 (1:cement 6: sand) as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	216.00	Per Cubic Meter	326.28	70476.00	00
Total in Figures	igures				447502.00	00
Quoted Ra	Quoted Rate in Figures		Select		0.1	0.00
Quoted Ra	Quoted Rate in Words		2	Zero and Paise Zero Only		

				Estimated Cost Earnest Money		495915 10000
בנ	ame of Warks CIO Play Graind of Cout or con caballat Tattanger			<u>-</u>	2	One Month
Sr	Sr.No.	Vall at RD	0/00 to 0/01	5) Depusit	WOUNT	
TEN!	Sub-Head and items of works.	No. Or Qty.	Unit.	Estimated Rate (In Rs.)	xes ST In	Toatal Amount with all taxes including GST In Words
EN	1 Excavation in soil in hilly area by mechancial emans including cutting and trimming of side slopes and disposing of excavated earth with in upto 1.5 mtrs and a lead up to 20 mtrs as per drawing and technical specification clasue 1603.1 as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	19.80	Per Cubic Meter	269.00	5326.00 F	5326.00 Rupees Five Thousand Three Hundred Twenty Six and Paise Zero Only
N	2 Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	30.00	Per Cubic Meter	483.30	14499.00	14499,00 Rupees Fourteen Thousand Four Hundred Ninety Nine and Paise Zero Only
3	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty millimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	79.05	Per Cubic Meter	5282.00	417542.00	417542.00 Rupees Four Lakhs Seventeen Thousand Five Hundred Forty Two and Paise Zero Only
4	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	20.55	Per Cubic Meter	2194.10	45089.00	45089.00 Rupees Forty Five Thousand Eighty Nine and Paise Zero Only
Ω υ.	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	30.00	Each	448.63	13459.00	13459.00 Rupees Thirteen Thousand Four Hundred Fifty Nine and Paise Zero Only
otal in	Total in Figures				495915.00	
uoted	Quoted Rate in Figures	S	Select		0.00	
uoted	Quoted Rate in Words		Ze	Zero and Paise Zero Only		
Quoted	ed Rate in Figures			ro and Paise Zero Only	0.0	1 10

Estimated Cost 467717
Earnest Money 9400
Time One Month

Name of Work:-R/R Damages on Gas Cylinder Store to Nayara Village to Imla Khad road km.0/00 to 1/400 (SH:- C/O embankment in km 0/555 to 0/780 & 0/890 to 0/970)

Sub-Head and items of works. Construction of embankment with approved material obtained from borrow pits with a lift upto 1.5m transporting to sight, spreading, grading to require slope and compacting to meet requirement of tables 300.01 and 300.2 with a lead upto 1000 mtr as per technical specification clause 301.5 1 Page in Figures	Select		: 1	7200	Total Pains Zoro Only
ables		ect	20	STATE OF THE PARTY	Service of the servic
ables			L		467717.00
	2336.25 Per	Per Cubic Meter	, S.	pic 200.20	
?	u Ato	Unit.		Estimated Rate (In Rs.)	Estimated Rate (In Rs.) with all taxes including GST In Rs. P

Estimated Cost Earnest Money

488393 9768 One Month

RD 70/645 to 70/695) Name of Work:- Improvement of Black Spot on Shimla Mandi road via Tattapani km 52/250 to 90/00 (SH:- Providing and fixing W-matel Beam Crash barriar railing at

Quoted I	Quoted	Total in Figures	4	ω	2	.4	Sr.No.
Quoted Rate in Words	Quoted Rate in Figures	Figures	Provinding and erecting aw -metal bream crash barriar comprising of 3 mm thick corrigated sheet matel beam rait 70 cm above /ground leavel fixed on ISMC series channel vertial post 150x75x5mm speced 2m canter of the canter 18m high 1.1 m below ground/ground leval all steel parts and fitments to be gavanized by hot dis process.All fittings to comgorm to IS:1367 and IS:1364 metal beam rail to be fixed on the vertical post with a spacer of chammal section 150x75x5 mm .330mm lons complete as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	Providing and laying conerte for plain/rainforced conerete in open foundation complete as per drawing and technical specfication clause 302,803,1202,&1203 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.(Nominal Mix 1:2:4)	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	Sub-Head and items of works.
			50.00	37.10	7.15	40.09	No. Or City.
Zer	Select		Per Running Meter	Per Cubic Meter	Per Cubic Meter	Per Cubic Meter	Unit.
Zero and Paise Zero Only			4504.00	5140.40	7194.00	525	Estimated Rate (In Rs.)
ly	-	488393	225200	190709	51437	21047	Toatal Amount with all taxes including GST in Rs. P
	0	393	Rupees Two Lakhs Twenty Five Thousand Two Hundred and Paise Zero Only	Rupees One Lakh Ninety Thousand Seven Hundred Eight and Paise Eighty Four Only	Rupees Fifty One Thousand Four Hundred Thirty Seven and Paise Ten Only	Rupees Twenty One Thousand Forty Seven and Paise Twenty Five Only	Toatal Amount with all taxes including GST In Words

Karsog Division, HPPWD, Karsog. Executive Engineer,

Name of Work:- Repair of maintenance of Kahnoo Prangan km 0/00 to 10/00 (SH:- C/O Unlined drain and maintenance of earthen shoulder and Removal of slips in km 0/00 to 2/00) Estimated Cost Earnest Money Time 194310 3900 One Month

-				Control of the line of the control o	or only or Nin oroc	(004)
_		No. Or	Unit	Estimated Rate (In Toatal Amount	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	Q.		Rs.)	with all taxes	taxes including GST In
					including GST In	Words
	Construction of unlined surface drain of average cross-section area 0.40 sqm in soil specified line grade, level and	1700.00	Per Cubic	23.27	70550 DD	Dinoca Thirty Nico
	dimension. Excavated material to be used to be used in embankment with a lift upto any level as per leadlift and other incidentals. As per direction of Engineer, in change with in all local coal tra-	1,00.00	Meter	23.27	39559.00	39559.00 Rupees Thirty Nine Thousand Five Hundred
	The second of th					Fifty Nine and Paise Zero
	to the design level by adding frack approved calculated soil) making up loss of material/irregularities on shoulders	2730.00	Per Cubic	22.30	60879.00	60879.00 Rupees Sixty Thousand
	any as per technical specification clause 1903 within all leads and lifts and other incidentals as per direction of Engineer-in Charge with in all leads and lifts and other incidentals as per direction of		Meter			Eight Hundred Seventy Nine and Paise Zero Only
ω	Removal of land slide slip clearance:-Removal of land slide in hilly area in ordinary rock not requiring blasting by	742.66	Per Cubic	126.40	93872.00	93872.00 Rupees Ninety Three
	mechanical means including cutting and timming of slops and disposal of cut material, with in all leads and lifts stacking the serviceable material and disposal of unserviceable material as per technical specification clause 302.3.5		Meter			Thousand Eight Hundred Seventy Two and Paise
	and 1671 as per direction of Engineer-in-Charge with in all leads and lifts and other incidentals.					Zero Only
Total in Figures	Figures				194310.00	0
Quoted I	Quoted Rate in Figures		Select		0.00	0
2uoted F	Quoted Rate in Words		Zei	Zero and Paise Zero Only		

Estimated Cost
Earnest Money
Time 99954 2000 One Month

Name of I	Work:- Repair & Maintenance of Balindi Kanda Kahaoo mod to proceed to the Control of the Control				Time	•	One Month
undulatio	undulations in km 0/00 to 10/00)	. Mandi (H.F) (SH:- C/O	Unlined drain and ma	aintena	nce of earthen s	houlder and filling
SINO							
06.		No. Or	Unit	Estimated Rate (ln To	(In Toatal Amount	Toatal Amount with all
	Sub-Hoad and Homo of the Line	ξ		Rs.)	 <	with all taxes	taxes including GST in

2						
04.140.		No. Or	Unit	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-Head and items of works.	ΩŊ.		Rs.)	with all taxes including GST In	taxes including GST In Words
_	Construction of unlined surface drain of company and the surface d					
-	dimension. Excavated material to be used to be used in embankment with a lift upto any level as per leadlift and other incidentals. As per directin of Engineer- in -charge with in all lead and lifts, and other incidentals.	1770.00	Per Cubic Meter	22.75	40268	40268 Rupees Four Thousand Two Hundred Sixty Eight And paise Zero Only
2	\rightarrow	1822.50	Per Cubic	32.75	59687	59687 Rupees Fifty Nine Thousand
	to the design level by adding tresh approved selected soil and compacting it with appropriate equipment at OMC upto any as per technical specification clause 1903 within all leads and lifts and other incidentals as per direction of		Meter			Six Hundred Eighty Seven And paise Zero Only
	Engineer-in Charge with in all leads and lifts and other incidentals.					
otal in I	otal in Figures				99954.00	
l pator	Joted Rate in Figures		Select	(1000) (1000) (1000) (1000) (1000) (1000) (1000)	0.00	
roted F	loted Rate in Words					

		Zero and Paise Zero Only	2		oted Rate in Words	Joted Ra
0	0.00		Select		Jouen Rate in rigures	Total K
0	374535.00		A CONTRACTOR OF THE PARTY OF TH		igures	tal in Figures
12068.00 Rupees Twelve Thousand Sixty Eight and Paise Zero Only	12068.00	1277.00	Per Cubic Meter	9.45	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	of the po
5948.00 Rupees Five Thousand Nine Hundred Forty Eight and Paise Zero Only	5948.00	371.75	Each	16.00	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	
353094.00 Rupees Three Lakhs Fifty Three Thousand Ninety Four and Paise Zero Only	353094.00	5140.40	Per Cubic Meter	68.69	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	ω π = α ≥ ≥
2186.00 Rupees Two Thousand One Hundred Eighty Six and Paise Zero Only	2186.00 R	208.15	Per Cubic Meter	10.50	Earth work in excavation by mechanical means (Hydrolic exacavator) manual means in foundation trenches of drains (not exceeding 1.5 mtrs in width 10sqm on plan)including dressing of sides and remaining of bottoms,lift upto 1.5 mtrs, including getting out the exacavated soil and disposal of surpllus exacavated soil as directed, within a lead 50mtrs as per direction of engineer in charge with in all lead and lifts and other incidentals.	2
1239.00 Rupees One Thousand Two Hundred Thirty Nine and Paise Zero Only	1239.00 Ru HI Zu	207.20	Per Cubic Meter	5.98	excavation in soil in hilly area by mechancial emans including cutting and trimming of side slopes and disposing of excavated earth with in upot any lead and technical specification clasue 1603.1 as per direction of Engineer-in-Charge including carriage of materials within all leads and lifts and other incidentals.	
Toatal Amount with all taxes including GST In Words	Toatal Amount Towith all taxes including GST In Rs. P	Estimated Rate (In Rs.)	Unit.	Qty.	Sub-Head and items of works.	
374535 7500 One Month		Estimated Cost Earnest Money Time		0/999)	ame of Work:- R/R Damages on Jach Sarhi road Km. 0/00 to 5/00 (SH:- C/O R/Wall in PCC at RD 0/988.50 to	ame of

Estimated Cost Earnest Money

483795 9700 One Month

Nam	Name of Work:- R/R Damages on Jach Sarhi road Km. 0/00 to 5/00 (SH:- C/O R/Wall in PCC at RD 0/264 to 0/273)			Time		One Month
Sr.No.	No.	No. Or	Unit.	Estimated Rate (In	Toatal Amount	Toatal Amount with all taxes
		aty.		Rs.)		including GST In Words
	Excavation in soil in hilly area by mechancial emans including cutting and trimming of side slopes and disposing of excavated earth with in upot any lead and technical specification clasue 1603.1 as per direction of Engineer-in-Charge including carriage of materials within all leads and lifts and other incidentals.	18.72	Per Cubic Meter	207.20	3879.00 F	3879.00 Rupees Three Thousand Eight Hundred Seventy Nine and Paise Zero Only
2	Earth work in excavation by mechanical means (Hydrolic exacavator) manual means in foundation trenches of drains (not exceeding 1.5 mtrs in width 10sqm on plan)including dressing of sides and remaining of bottoms, lift upto 1.5 mtrs, including getting out the exacavated soil and disposal of surpllus exacavated soil as directed, within a lead 50mtrs as per direction of engineer in charge with in all lead and lifts and other incidentals.	17.55	Per Cubic Meter	208.15	3653.00	3653.00 Rupees Three Thousand Six Hundred Fifty Three and Paise Zero Only
ω	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:4:8 (one Cement : four coarse sand : eight graded stone aggregate 40 mm (forty millimetre) nominal size as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24.84	Per Cubic . Meter	5457.80	135572.00	135572.00 Rupees One Lakh Thirty Five Thousand Five Hundred Seventy Two and Paise Zero Only
4	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10 (one cement: five sand: ten graded stone	63.33	Per Cubic Meter	5140.40	325542.00	325542.00 Rupees Three Lakhs Twenty Five Thousand Five Hundred
	with in all leads and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.					Forty I wo and Paise Zero Only
	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall, return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	12.00	Each +	371.75	; 4461.00	4461.00 Rupees Four Thousand Four Hundred Sixty One and Paise Zero Only
o	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifes and other incidentals.	8.37	Per Cubic Meter	1277.00	10688.00	10688.00 Rupees Ten Thousand Six Hundred Eighty Eight and Paise Zero Only
in F	In Figures				483795 00	
ted Ra	ted Rate in Figures		Select		0.00	
ed Ra	ed Rate in Words		Zer	Zero and Paise Zero Only		



Estimated Cost 280947
Earnest Money 5700
Time One Month

Excavation in soil in hilly area by mechancial emans including cutting and trimming of side slopes and disposil excavated earth with in upot any lead and technical specification clasue 1603.1 as per direction of Engineer-in Charge including carriage of materials within all leads and lifts and other incidentals. Earth work in excavation by mechanical means (Hydrolic exacavator) manual means in foundation trenches of (not exceeding 1.5 mits in width 10sqm on plan) including dressing of sides and remaining of bottoms, lift upto function getting out the exacavated soil and disposal of surpllus exacavated soil as directed, within a lead 50mtrs as per direction of engineer in charge with in all lead and lifts and other incidentals. Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802, 803 1202 and 1203 Noiminal mix 1.5: 10, (one cement: five sand: ten grade technical specification clause 802, 803 1202 and 1203 Noiminal mix 1.5: 10, (one cement: five sand: ten grade technical specification clause 802, 803 1202 and 1203 Noiminal mix 1.5: 10, (one cement: five sand: ten grade technical sand lifts and other incidentals as per direction of Engineer-in- Charge including carriage of matwith in all leads and lifts and other incidentals. Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment, wing wall, return with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(y):20 (H) towads draw that one per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals. Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not le 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and provid the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition competed and provided the personal
ding cutting and trimming of side slopes and disposing of lification clasue 1603.1 as per direction of Engineer-in-d lifts and other incidentals. exacavator) manual means in foundation trenches of drains of dressing of sides and remaining of bottoms, lift upto 1.5 all of surpllus exacavated soil as directed, within a lead and lifts and other incidentals. tet in open foundation complete as per drawing and stee in open foundation complete as per drawing and erection of engineer in charge including carriage of materials from of Engineer-in- Charge including carriage of materials plain reinforced concrete abutment, wing wall, return wall the of structures with slope of 1(v):20 (H) towads drawing cluding carriage of materials within all leads and lifts and gregate as per specification to a thickness of not less than the soil and bigger size towards the wall and providing over I to the full height, compacted to firm condition complete as or as per direction of engineer in charge including carriage.
slopes and disposing of ction of Engineer-in- ndation trenches of drains of bottoms, lift upto 1.5 irected, within a lead
of
No. Or

Estimated Cost

481360

		Zero and Paise Zero Only	Ze		Quoted Rate in Words	uoted R
	0.00	AND SHOULD SHOULD BE	Select		Quoted Rate in Figures	2uoted R
	481360.00				igures	otal in Figures
Rupees One Lakh Eighty Nine Thousand Seven Hundred Twenty Three and Paise Zero Only	189723	2698.00	Per Cubic Meter	70.32	Providing and laying of boulder apron laid in wire crates made with 4mm dia GI wire conforming to IS:280 & IS:4826 in 100 mm X 100mm mesh(weaved diagonally)inculding 10 per cent extra for laps and joints laid with stone boulders weighing not less than 40kg each as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	4
Rupees Fifteen Thousand Thirty Two and Paise Zero Only	15032	1229.12	Per Cubic Meter	12.23	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	3
Rupees Two Lakhs Sixty Six Thousand Five Hundred Thirty Five and Paise Zero Only	266535	5923.00	Per Cubic Meter	45.00	Providing and laying in position cement concrete of specified grade excluding the cost of centering and shuttering - All work up to plinth level 1:4:8 (one Cement: four coarse sand ::eight graded stone aggregate 40 mm (forty millimetre) nominal size as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	2
Rupees Ten Thousand Seventy and Paise Zero Only	10070	208.15	Per Cubic Meter	48.38	Excation in soil in hilly Area by mechancial means inculding cutting trimming of side slopes abnd disposing of excavated earth with a lift upto 1.50 mtr and a lead upto 20 m as per technical specification xlauses 1603.1(8.3(ii) A) as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	_
Toatal Amount with all taxes including GST in Words	Toatal Amount with all taxes including GST in Rs. P	Estimated Rate (In Rs.)	Unit.	aty	Sub-Head and items of works.	Sr.No.

Karsog Division, HPPWD, Karsog. executive Engineer,

				Ear-Ear		9800
Name Sr.No.	of Work:-R/R Damages on Chindi-Pangna road Km. 0/00 to 12/480 (SH:- C/O R/Wa	5/605	to 5/618.50)		lime	One Month
	Sub-Head and items of works.	Qy.	Unit.	Estimated Rate (In Rs.)	Toatal Amount with all taxes including GST In	Toatal Amount with all taxes including GST in
	Earth work in excavation by mechanical means (Hydraulic excavator)/manual means in foundation trenches or drains (not exceeding 1.5 m in width on 10 sqm on plan), inculding dressing of slides and ramming of bottom, lift upto 1.5 m, inculding getting out the excavated and disposal of surplus excavated soil as directed, with in a leaad of 50 m as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	13.23	Per Cubic Meter	207.20	Rs. P 2741	Rupees Two Thousand Seven Hundred Forty One and Paise Zero Only
2		28.35	Per Cubic Meter	208.15	5901	Rupees Five Thousand Nine Hundred One and Paise Zero Only
ω	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1.5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	87.84	Per Cubic Meter	5140.40	451533	Rupees Four Lakhs Fifty One Thousand Five Hundred Thirty Three and Paise Zero Only
4	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	27.00	Each	371.75	10037	Rupees Ten Thousand Thirty Seven and Paise Zero Only
5	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	14.38	Per Cubic Meter	1277.00	18363	Rupees Eighteen Thousand Three Hundred Sixty Three and Paise Zero Only
Total in Figures	Figures				488575.00	0
Quoted F	Quoted Rate in Figures		Select	ALTERNATION OF	0.00	0
Quoted F	Quoted Rate in Words		Ze	Zero and Paise Zero Only	-	

Name c	Name of Work:- Work:- R/R Damages on Bhanthal to Punni road km 0/00 to 3/00 (SH:- C/O B/Wall at RD 0/915 to 0/945	to 0/945		Estimated Cost Earnest Money Time		363628 7300 One Month
	Sub-Head and items of works	Ofv. Or	Unit.	Estimated Rate (In	Toatal Amount	Toatal Amount with all
	Sub-nead and Items of works. Excavation in soil in hilly area by mechanical mean including and items of works.	ģ		RS.)	with all taxes including GST in Rs. P	taxes including GST In Words
	excavated earth with any lift and any lead as per techanical specification clause 1603.1 as per direction of engineer in charge with in all lead and lift As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	45.60	Per Cubic Meter	195.00		Rupees Eight Thousand Eight Hundred Ninety Two and Paise Zero Only
2	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out	37 AN	Der Cubic	379 90	10485	Discos To There are
=: 43 45	50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3 mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.		Meter			Hundred Eighty Five and Paise Zero Only
ω S FI	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone	64.80	Per Cubic Meter	5140.40	333098	Rupees Three Lakhs Thirty Three Thousand Ninety
≯ ω	aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials					Eight and Paise Zero Only
1 8	within all leads and lifts and other incidentals.					
4	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face	30.00	Each	371.75	11153	Rupees Eleven Thousand One Hundred Fifty Three
. δ	complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other					and Paise Zero Only
5	incidentals.					
Total in Figures	gures				363628	328
uoted Ra	Quoted Rate in Figures		Select	日本は日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日本の日	0	0.00
Quoted Rate in Words	to in Words					

Name o	Name of Work:- C/O Bhanthal to Punni road km 0/00 to 3/00 (SH:- C/O R/Wall at RD 0/123 to 0/130 & 2/332.3 to 2/335)	2/335)		Estimated Cost Earnest Money Time		234349 4700 One Month
	Sub-Head and items of works.	No. Or Oty.	Unit	Estimated Rate (In Rs.)	Toatal Amount with all taxes	Toatal Amount with all taxes including GST In
_	Earth work in excavation by machanical magazine.	,		,	including GST In Rs. P	Words
	(not exceeding 1.5 meter in width or 10 sqm on plan) including dressing of sides and ramming of bottoms, life upto 1.5 m, including gatting out the exacavated soil and disposal of surplus exacavated soil as directed, within a lead of 50 m. as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	26.49	Per Cubic Meter	379.90		10064 Rupees Ten Thousand Sixty Three and Paise Fifty Five Only
2	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in-Charge including carriage of materials within all leads and lifts and other incidentals.	39.53	Per Cubic Meter	5140.40	203200	203200 Rupees Two Lakhs Three Thousand Two Hundred and Paise Zero Only
3	Granular filling abutment wing wall and return wall complete as per drawing and technical specification clause 1204.3.8 granular material as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	12.14	Per Cubic Meter	1277.55	15509	15509 Rupees Fifteen Thousand Five Hundred Nine and Paise Zero Only
10 1 F	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	15.00	Each	371.75	557	5576 Rupees Five Thousand Five Hundred Seventy Six and Paise Zero Only
Total in Figures	-igures				234349	19
luoted R	Quoted Rate in Figures		Select	Programment a	0.00	00
uoted R	Quoted Rate in Words					

					oted Rate in Words	oted R
0	0.00		Select		Joted Rate in Figures	oted R
Δ.	212923				igures	tal in Figures
Rupees Nineteen Thousand Two Hundred Nineteen and Paise Zero Only	19219	1277.00	Per Cubic Meter	15.05	Providing and Laying filter media with granular crushed aggregate as per specification to a thickness of not less than 600mm(six hundred millimeter) with smaller size towards the soil and bigger size towards the wall and providing over the entire surface behind abutment, wing wall, return wall to the full height, compacted to firm condition complete as per drawing and technical specifications clause 1204.3.8 or as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals.	4 2 D D D D D
Rupees Five Thousand Two Hundred Five and Paise Zero Only	5205	371.75	Each	14.00	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,retum wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	
Rupees One Lakh Eighty Three Thousand Four Hundred Nine and Paise Zero Only	183409	5140.40	Per Cubic Meter	35.68	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10. (one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	N
Rupees Five Thousand Ninety and Paise Sixty Six Only		379.90	Per Cubic Meter	13.40	construction for shoring and bracing removal of stamps and technical specification clause 305.1 including setting out 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3 mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	
Toatal Amount with all taxes including GST In Words	Toatal Amount with all taxes including GST In Rs. P	Estimated Rate (In Rs.)	Unit	No. Or City.	Sub-Head and items of works.	
212923 4300 One Month		Estimated Cost Earnest Money Time		·	Name of Work:- R/R Damages on Seri Shout road km 0/00 to 16/00 (SH:- C/O R/Wall at RD 13/625 to 13/635)	Name o

Karsog Division, HPPWD, Karsog. Executive Engineer,

Estimated Cost 461831
Earnest Money 9300
Time One Month
(SH:- ROFD in km 0/650 to 0/780)

Quote	Quote	Total	-		, SI.NO.	Nam
Quoted Rate in Words	Quoted Rate in Figures	Total in Figures	saturated soil comprising of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be carried out by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to protect stability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is prohibited). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades, side slopes, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in-charge, in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 of general condition for contract to achieve designed formation width including hauling and stacking of material useful for construction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling of unevenness, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for smooth riding. The recovery of 274.97 cubic metre @ Rs. 300/- per cubic metre amounting to Rs. 82491/- only, shall be done on prorata basis for the quantity of cutting in earth work effected. Any loss to the public and private property during the course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly compensated by him in all cases.	Sub-Head and items of works.		Name of Work:- C/O link road from Kelodhar to Degree College Karsog km 0/00 to 1/570 (SH:- ROFD in km 0/650 to 0/780)
			1586.40	ď.	No. Or	650 to 0/7
Z	Select .	,	Per Cubic Meter		Unit.	80)
Zero and Paise Zero Only	SALES CARRESTON OF		291.12	1033	ŧ	
γlr	0.	461831.00	461831.0	including GST In Rs. P	(In Toatal Amount	
	0.00	.00	461831.00 Rupees Four Lakhs Sixty One Thousand Eight Hundred Thirty One and Paise Zero Only	including Gold	Toatal Amount with all taxes	One Month

Estimated Cost Earnest Money Time

363420 7300 One Month

Na	те о	Name of Work:- R/R Damages on Sanarli Bathar road km 0/00 to 2/800 (SH:- C/O R/Wall at RD 1/855 to 1/865)	_			IIme	c	One Month
	Sr.No.	_		Unit.	Estimated Rate	(In Toat	Toatal Amount	Toatal Amount with all taxes
		Sub-Head and items of works.	Qty.		Rs.)			including GST In Words
		Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deletenous materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	17.55	Per Cubic Meter	273.75		4804.00	4804.00 Rupees Four Thousand Eight Hundred Four and Paise Zero Only
2		Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carnage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carnage of materials within all leads and lifts and other incidentals.	61.06	Per Cubic Meter	5246.60		320357.00	320357.00 Rupees Three Lakhs Twenty Thousand Three Hundred Fifty Seven and Paise Zero Only
		Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment, wing wall, return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	24.00	Each	372.45		8939.00	8939.00 Rupees Eight Thousand Nine Hundred Thirty Nine and Paise Zero Only
4		Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	22.95	Per Cubic Meter	1277.55		29320.00	29320.00 Rupees Twenty Nine Thousand Three Hundred Twenty and Paise Zero Only
Total	in F	Total in Figures :					363420.00	0
Quote	ed R	Quoted Rate in Figures		Select			0.00	0
Quote	ed Ra	Quoted Rate in Words		Ze	Zero and Paise Zero Only	nly		

	Quoted I	Total in Figures	Sr.No.	
Quoted Rate in Words	Quoted Rate in Figures	igures	Sub-Head and items of works. Son in earth work in hilly area by mechanical means all heights and depths, in all kind of soil including d soil comprising of mixed soil, ordinary rock and hard rock. All work of rock cutting by blasting shall be but by taking all necessary precautions against soil erosion, damage to hill side, water pollution, etc. and to tability of hill side. Rock shall be excavated with chiseling and wedging out rock (where blasting is d). All earth work in cutting/excavation, including rock excavation shall be carried out true to lines, grades ses, width, camber, super-elevation and level as shown on the drawings or as directed by the Engineer-in conformity with the requirement of technical specification for Rural Roads August 2004 and Clause 16.2 condition for contract to achieve designed formation width including hauling and stacking of material usefunction at suitable sites and safe disposal of unsuitable cut materials in specified manner, trimming, filling ess, blindage and finishing of the road to specified dimensions or as directed by the Engineer-in charge for items of the quantity of cutting in earth work effected. Any loss to the public and private proper or course of excavation shall be the absolute responsibility of the contractor, which shall have to be duly sated by him in all cases.	
			1366.00	
2	Select		Deposit unde Unit. Per Cubic Meter	
Zero and Paise Zero Only			Dawandi side Deposit under BSP/2022/953 No. Or Unit. Estimated Rate (In Rs.) 1366.00 Per Cubic 232.46 Meter of or hall	Estimated Cost Earnest Money
	0.	317540.00	Toatal with a	
	0.00	.00	Amount Toatal Amount with all taxes Il taxes Including GST in Words 317540.00 Rupees Three Lakhs Seventeen Thousand Five Hundred Forty and Paise Zero Only	317540 6400

		Zero and Paise Zero Only	Zei		oted Rate in Words	oted Rate
10)	0.00		Select		oted Rate in Figures	oted Rat
79	487279				res	tal in Figures
Rupees Seven Thousand Four Hundred Thirty Five and Paise Zero Only	7435	371.75	Each	20.00	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	4 Provide American Am
Rupees Fifteen Thousand Nine Hundred Forty Four and Paise Zero Only	15944	1277.55	Per Cubic Meter	12.48	Back filling behind abutment wing wall and retaining wall complete as per drawing & technical specification clause 1204.3.8 as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	3 B:
Rupees Four Lakhs Fifty Four Thousand Eight Hundred Seventy Four and Paise Zero Only	454874	5140.40	Per Cubic Meter	88.49	Providing and laying concrete for plain freinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10. (one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	2
Rupees Nine Thousand Twenty Six and Paise Zero Only	9026	379.90	Per Cubic Meter	23.76	Learn work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including carriage of material within all leads and lifts and other incidentals.	T 3 (5 0 m
Toatal Amount with all taxes including GST In Words	Toatal Amount with all taxes including GST In Rs. P	Estimated Rate (In Rs.)	Unit	Qty.	Sub-Head and items of works.	
487279 9800 . One Month		Estimated Cost Earnest Money Time	tlu Side	16/812) Kotlu Side	Name of Work:- R/R Damages on Kotlu to Katanda road km 0/00 to 19/00 (SH:- C/O R/Wall at RD 16/800 to	Name of

Name of	Name of Work:- R/R Damages on Nehra to Bhadarnu road km 0/00 to 2/700 (SH:- C/O R/Wall at RD 0/885 to 0/915)	15)		Earnest Money Time		458071 9200 One Month
Sr.No.	10/9 (SH:- C/O K/Wall at RD 0/885 to 0/9	15)	:			
	Sub-Head and items of works.	Oty.	Unit	Estimated Rate (In Rs.)	Toatal Amount with all taxes including GST In	Toatal Amount with all taxes including GST In Words
_	Earth work in excavation for structure as per drawing and technical specification clause 305.1 including setting out construction for shoring and bracing removal of stamps and other deleterious materials and desposal up to a lead of 50 mtrs dressing of side and bottom and back filling in trenches with excavated suitable materials ordinary soil upto 3mtrs depth as per direction of Engineer-in-Charge including camage of material within all leads and lifts and other incidentals.	35.10	Per Cubic Meter	379.90	13334	Rupees Thirteen Thousand Three Hundred Thirty Four and Paise Forty Nine Only
N	Providing and laying concrete for plain /reinforced concrete in open foundation complete as per drawing and technical specification clause 802,803 1202 and 1203 Noiminal mix 1:5:10.(one cement: five sand: ten graded stone aggregate 40mm (forty milimeter) nominal size as per direction of engineer in charge including carriage of materials with in all lead and lifts and other incidentals as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	78.98	Per Cubic Meter	5140.40	405989	Rupees Four Lakhs Five Thousand Nine Hundred Eighty Nine and Paise Zero Only
3 G le	Back filing behind abutment wing wall, retaining wall , Breast Wall & Return Wall complete as per drawing & technical clause 1204.3.8 Granular materials. As per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	21.60	Per Cubic Meter	1277.55	27595	Rupees Twenty Seven Thousand Five Hundred Ninety Five and Paise Zero
4 4 5 8 E	Providing weep holes in brick masonary/stone masonary/plain reinforced concrete abutment,wing wall,return wall with 100 mm dia PVC pipe extending through the full width of structures with slope of 1(v):20 (H) towads drawing face complete as per direction of Engineer-in- Charge including carriage of materials within all leads and lifts and other incidentals.	30.00	Each	371.75	11153	Rupees Eleven Thousand One Hundred Fifty Three and Paise Zero Only
Total in Figures	gures				458071	71
uoted Ra	Quoted Rate in Figures		Select	RESTREET STATE STATE OF STATE	0.00	00
Quoted Rate in Words						

D.N.I.T / SCHEDULE OF QUANTITY

Estimated Cost Rs: - 97540/-Earnest money: - 1950/-Time: - One Months

Name of Work :- R.R. Damages on Lathehri Khadkan Road Km 0/00 to 2/00 (SH.:- Remval of Slips at various Rds)

			S
			S.No.
Total :-	Removal of land slide in hilly area in ordinary rock not requiring blasting by mechanical means including cutting and trimming of slops and disposal of cut material within any leads and lifts as per technical specification 302.3.5 and 1611 as per direction of Engineer- In- Charge including carriage of materials within all leads and lifts.		Sub- Head and items of work.
	771.68 Cum		Qty.
		In Figure	
		In Words.	Rate
	Cum		Unit.
			Amount.

Karsog Division (B & B)